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INSTRUCTIONS TO THE CANDIDATE
{(Read the Instructions carefully before Answering)
Separate Optical Mark Reader (OMR) Answer Sheet is supplied to you along with Question Paper

Booklet. Please read and follow the instructions on the OMR Answer Sheet for marking the responses
and the required data.

. The candidate should ensure that the booklet code printed on OMR sheet and guestion\paper booklet

code ﬂupplmd are same.

Yy on estion Paper Booklet by tearing off the paper seal’p lease check for
{n] The sa.mc )}on each page, (ii) Sbmy'ml Hunrﬁbtr of the quéstions [1 200, (iif) The

- number of pages and (iv) Cnrm:t anggggln case of any defect, please report to the invigilator and ask

for replacement of booklet with same within five minutes from the€ommencement of the test.
E]acu*nmr: gadgets like Cell Phone, Calculator, Watches and Mathemati€al/Log Tables are not permitted
into the examination hall,

5. Darken the appropriate circles of 1, 2, 3, m41nﬂmﬂhﬂﬁh¢ﬂt¢Wﬂgmmtﬂrﬂmmt

. [RrySo Tod prawd’ fodeadod. (mofil / Beord

appropriate answer to the concerned question number in the sheet, of more than one circle

against any question automatically gets invalidated.

. Rough work should be done only in the space provided in/the Question Paper Booklet.
. Return the convener copy of OMR Answm' Sheet to the inyigilator before leaving the examination hall.

Failure to return is liable for criminal action.

The duplicate OMR sheet and Question Paper Bookletshall be taken away by the calldida:tt and should
be preserved till the declaration of results.

The Question paper booklet is printed in two hng‘qﬁges viz. English / Telugu or English / Urdu. In case of
any doubt or ambiguity in any question, then the/English version is considered to be the correct version.
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Time ;: 3 Hours - Marks : 200
Instructions :

(1)
(1)

* Each question carries one mark,

063 |24 50 8.8 Srdoy.

Choose the coirect or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen, the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer sheet,
separately supplied to you,

AHS BN HB 1DNHH BS2AS TUS DBTH JIrSsnd JAED O
Hr00T wol 1, 2, 3 BE 4 30 ad)d OMR J8rerd Hgdand’ (D) Wonis

BT e Howote HalEs 7/ ard oo ), SHTA0D AoBID.

Choose the incorrectly spelt word from the following set of words :
(1) acquaintance (2) maneouvre
(3) erroneously _ (4) demurrage

In the following question, four words are given, of which two wetds &re nearly the same or
opposite in meaning. Find the two words that are similar or oppOsit®in/meaning and indicate the
number of the correct letter combination provided in the options,

A. Possessive B. Dreadful

C.  Secretive D. Repugnant

(1) BC (2) B-D (3) A-B 4) A-C

Choose the correct rearrangement of the following‘jumbled. sentences to make it a meaningful
P . Music is perhaps the most popular ¢f.4l) the arts and we find that classical Indian music
continues its traditions.

Both have deep traditions and\ghanges only happen gradually. N

For example, concerts are”ustally by a vocalist or by a solo musician playing an
instrument, with a mipimum of percussionists.

Indian culture is rich if\thearts - literature, music, dance, theatre, fine arts and, in modem
India, cinema and té€levision as well. | _
The two main types ‘of music in India are the North Indian Hindustani and the South Indian
Karnatic music.” |

(1) EDBAC (2) DEACB (3) DAEBC (4) ABECD

m g 0w »

Match theswords in column ‘A’ with their meanings in column 'B’. Choose the right answer from
the options\given below : \
Column ‘A’ Column ‘B’

(i~ \Sanguinary A
(ii) Punctilious b. Inpeccable
(1) Dogmatic ¢. Murderous
(iv) Reprehensible d. Pontifical

| ¢. Verybad

@ @) @H dav)

(1) d a c
(2)
(3)
4)

o o a0
[ = - ]
(= ol - =¥

=]
c
d
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Pick out the most effective pair of words from the given npl:m:mtn mak.-.ﬂ'le sentence
meaningfully complete. -
The Prison guards degraded themselves with their and treatment of the prisoners,

(1) differential/regal (2) cavern/fantabulous
(3)  surreptitious/overt ' (4) inhumanefignominious
6.  Maich the following definitions with their one-word substitutes.
A. A place in a large institution for the care of those who are ill i.  Carto
B. A line of descent traced continuously from an ancestor - ii.
C. The art of effective or I.'I'I‘.!I'El.lﬂfli‘h"ll:- speaking or writing ﬁi-@mﬂ]nﬂ
D. A person who draws or produces maps | d + Rhetoric
A B C D :
() i i iv '\O
(2) 1 ii iv i &'
(3) 1 ii i iv @
(4) 1 iii i iv
7. Choose the right matching of the syn 0 Qﬁmr words given below :
(i)  Arbiter (A) Uncom@
(ii) Blithe {B) Thrash
(iii) Flail (©) x@
(iv) Zeal D) . 4
1) (1) ()~
(1) (A) (B) ]‘ C)
(2) (B) (A ) (C)
(3) (© (D) (B)
4) ( (B) - (D)

8. Inmﬁfﬂumringquaﬁnn;fuurwnrd:mgivm,ﬂfwhichhmwmdamnﬁ:ljrihesameur
opposite in meaning, Find the two words that are similar or opposite in meaning and indicate the
number of the correct letter combination provided in the options.

A.  Shambles | B. Flexible
C. Periodic D. Organised
(1) A-B (2) A-D
(3) BC (4) B-D
Pl WWW.sakshtion.com d,,.B
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In the following question, the first And the 1ast sentences of the passage are in order and
numbered S, and S.. The rest of the passage is split into four parts and named P, Q, R and S.

These four parts are not given in their proper order, as they should appear in the paragraph.

Read the passage and find out which of the four combinations correctly forms the sequence of
sentences in the passage :

S;: One key prevention is making personnel throughout the organisation aware of the fraud

risk management program, including the types of fraud and misconduct they may occur.

F : With this in mind, prevention and deterrence are interrelated concepts.

Q : This awareness should enforce the notion that all of the techniques established in the
programme are real and will be enforced.

R : The ongoing communication efforts could provide information on thé “potential

* disciplinary, criminal and civil actions that the organization could také dgainst the
individual.

S : ' If effective preventive controls are in place, working and well-known te~potential fraud
perpetrators, they serve as strong deterrents to those who might otherwise be tempted to
commut fraud.

S¢+  Fear of getting caught is always a strong deterrent. Effectivie preventive controls are,
therefore, strong deterrence controls. O Q

(1) FRQS (2) QRPS

(3) QRSP (4) RSPQ

Answer the question after reading the following passape~
The traditional approach to parenthood is completely unsatisfactory. Women have to spend many
hours in child-rearing. Those with professional skills may sacrifice their career in all respects for

the benefit of only one child. Because women spend time caring for their children, the services of
many expensively trained teachers, nurses,-doctors and other professionals are altogether lost to
society. Even if child-rearing is sharéd\by the father, it simply means that two people waste time
on an unproductive task for which they may be entirely ill-equipped. Society would be much
better served if parenthood was tade the responsibility of well-trained professional parents who
would look after groups of ‘ghildren as a paid occupation. This would end amateur childrearing
and allow the biological pézents to fully develop their careers for the benefit of society. Critics

may argue that children reared in this would feel rejected, at least to some extent, by their natural
parents. This is quite”untrue. Evidence from societies where collective childrearing is practiced

shows that childrén merely experience minor upsets and are hardly affected by the separation.

What is the funiction of expressions like ‘completely, in all respects, altogether, simply, entirely,
much, at least 1o some extent, quite, merely and hardly' in the passage 7

(1) . Fomaximize the points against their opinion

(2) ¢~Jo persuade the reader by well-structured argument

(3) To mislead the reader so that she/he keeps on worrying ahout the gist
(4) To minimize the points in favour of their opinion

For the question below, determine the relationship between the pair in the question and then
select, from the options the pair having a similar relationship to the first pair.

Mendicant : Impecunious ::

(1) Complainer : Petulant (2) Hat; Askew

(3) Philanthropist ;: Prodigal | (4) Critic : Vagabond

P11
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In the following question, four pairs of words are given. Find the word pair which have
dissimilar meaning from the options given below :

(1) retrospective/prospective (2) entice/lure
(3) abhor/detest (4) introspection/brooding

Choose the right alternative to make it a meaningful sentence.

Though she is by nature but she does not like that any stranger should on her privacy.
(1) lugubrious, lonely (2) garrulous, meddle
(3) salubrious, interfere | (4) gregarious, intrude

Fill in the blanks with appmpnatawards by choosing the suitable set of answerg frnmthc options
given below the paragraph.

The disqualification as a (i) ______ of defection does not apply. If the original party of a member
(ii) with another party and he either changes his political party as a consequence of the
merger. A merger is (iif) _____ to take place only if not less than twosthird of the (iv) ____ of the
Legislative party (v) to such merger.

(1) (i) consequence (ii) merges (iii) deemed (1¥) members  (v) agree

(2) (i) consequence (ii) agree (iii) deemedr (A1v) members (v) merges

(3) (i) consequence  (ii) deemed  (iii) members’ (iv) merges (v) agree

(4) (1) consequence  (ii) agree (iii)vmegged . (iv) deemed  (v) members

Which of the following is an ungramniaticel séntence 7
(1) Have they not been practisirigyoga since their childhood 7

(2) The team has been working-hard meticulously fnrsmnmnthab:fm:dmysuhmmndthﬂ
project to the company.

(3) Hasn't he repaired e vehicle yet 7
(4) IfI were you, I'ouldn't write this examination.

Determine which ufthm words fits well in a]l or the maximum number of sentences,

(i) Thebill reduction in electoral :lpl:nnt:s

(i) Theplan_____ten percent growth in production.

(iii) |\ ‘The budget for the current year more or less double turn-over than that of last year.
(iv) The company a good production due to better prospects of sugarcane production.
(1) seeks (2) rated (3) increased : 4 envisages

Choose the word from the following list of words, which is correctly spelt,
(1) Facetiots (2) Obviete
(3) Paraphemelia (4) Parcimonious

. S — — __:-qu.n
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18. In the following question, a sentence is given in which one word is printed in bold type. Your
task is to select the word or expression from the alternatives which convey same meaning as the

word printed in bold.

His acquirtal by the jury surprised those who had thought him guilty.
(1) exoneration (Z) conviction

(3) arraignment (4) denunciation

19. Read the following job advertisements and answer the questions that follow :

Tm:hing Position Available | Receptionist B SAP Graphig 8 |
—— e | Designer Required |
| |
| Gandh: Internntmna] School, | Sairam Airconditions Company | A positign s available
| one of the top performing  sceks  full-time  front  desk fnrngmrtumr. g;rap]uc
| schools is looking to recruit | receptionist, You must be : | designer to join Hall
passionate and  competent, - excellent in communication AMark  International.
| teachers. You must be proficient skills [ You must be expert in
| in English. - N ) | Using various computer
Pr hours per week :— W'.Iﬂpﬂﬂﬂt in Dasic Cﬂfwm programmes.
| (flexible times) | ’ | ¥35,000 per year
© 40 per hour - polite and approgchable !
'Plllﬁbﬂnﬂﬁﬂﬂ SWE”!E::! fﬁ@
‘Which job nﬂ’m flexible time 7 . .Y
(1) Receptionist (2) Graphic designer
(3)  All the jobs (4) Teacher

20, Clmnﬂe the right sequence of/ words to fill in the blanks marked (A) —(F) in the following
sentences to make it a meaningful paragraph.

How quickly things change in the technology _ (A) .! A decade ago, IBM was the awesome
and __(B) . King of'the tomputer trade, universally _ (C) and respected. A decade ago, two
litde _(D) _called Intel and Microsoft were mere blips on the radar screen of the industry, _(E)
start-ups that _had“designed to make the chips and software for IBM's new line of personal
computers., Though their products soon became industry standards, the two companies
mmm MF) _.children of the market leader. |

(L. \(R) ~ upstart, (B) — feared, {E} —~ companies, (D) - business, IIE} — upstarts,
(F) - undisputed.

(2) (A) - business, (B) — undisputed, {C} - companies, (D) - upstart, (E) - companies,
(F) = protected.

(3) (A) - business, (B) - undisputed, (C) - feared, (D) - companies, (E) = upstart,
(F) = protected.

(4) (A) = companies, (B) - protected, (C) - business, (D) - feared, (E) — undisputed,
(F) - upstart.

.i:l_l — s . o -
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21, Three persons A, B and C have started a business with a total investment of T 5 lakhs. In this A
invested T 40,000 more than B, while B's investment is ¥ 50,000 more than that of C. If the share
of B in the year-end profit is T 25,500, then the share (in rupees) of A in the profit is
Snfpdh Ssven A, B, C e Ao &r 5§ oo Pads Turdo sodoord.
RS’ A ©F 558 B S0%.87. 40,000 D505 AEPHA O™ B DEPaA C DP2A Loh
8. 50,000 D503, HOSS o0 ergiods B arer 7 25,500 eond, oS’ A TEF
(Erarand’)

(1) 21,000 (2) 31,500 (3) 35,500 (4) 18,000

22. A manufacturer undertakes o supply 2000 pieces of a particular component at the rate of € 25 per
piece. According to his estimate, even if 5% of the supply fail to pass the quality test, then he will
make a profit of 25%. However, as it turned out, 50% of the supplied components wére Yejected.
The loss to the manufacturer is

2.8 red Y8 G 2.8 (HELEDS DAerrdy 250638 T 25 W dydd 2000 &0 HOHP* BAHarE

LHFID. B8 wod (WFdo o TS BS 5% TH HO5S T

oD 88 25% DY, TV HEHo wanS DA TS 50% HEHSLE
08NS, BHch A St §08 Sho- '

(1) T 14,000 (Z) T 13,000 (3) ©12,000 (4) 215000

23. A certain sum P amounts to ¥ 29,400 in two years and to r:ujm in three years on compound
interest. Then the sum P is (in rupees)
Foeb s} P Boch H0S8 orel SHIES@SE SO0, 29,400 S8k Srd oSS yovel

BESSS' SOD 6. 34,300 ©ON0O. Byt 8 APIBTP (BrarchHeds
(1) 21,600 (2) 25,600 (3, 22,600 (4) 20,000

24. Aand B are at points P and Q respectively. Th&destinations of A and B are Q and P respectively.
Both of them started at the same timédn the opposite directions on the same route, After some
time they met each other at the peinf'R, A and B take respectively 4 hours and 9 hours to reach
their destination from R. If the speed\of A is 48 kmph then the speed of B (in kmph) is
A 8 B en SR Dolidagen P ddin Q © S dom)th. A Hocin B © dEns
forgen SHAT Q HoE-P. TOHID 28 JHHairdd 2.3 Ardos’ Linds ﬁié
adhenBorth. Fod LIPS St Docd R H6 Senindomryth. R 408 A, B e 0
Ao TEaDE ARAM 4 fotey, 9 foded Jdobho Snsaryt. A JKo Kotk
48 5.5:. wond B Moo 4.5, et
() 39 (2) 32 ©(3) 46 4) 7

25. Shekhar stafted)a business investing T 25,000 in the year 1999. Afier one year in 2000, he
invested @n,additional amount of 10,000 and Rajeev joined him with an amount of T 35,000.
After @nhather year in 2001, Shekhar again invested another additional amount of ¢ 10,000 and
Jatigrjoined them with an amount of ¥ 35,000. Rajeev’s share in the profit of ¥ 1,50,000 earned at
theend of 3 years from the start of the business in 1999 is
DOSSI50 1999 &' T 25,000 EP2ASE FHB 2.8 FITR) (D GoDOTID. 2.8 Hose 80
ST 36 2000 HOSSIB0S" &S BSSOM T 10,000 DEPLAT DB, HEA ¢ 35,000
PSS oAl S D0, HF Joddito Sorid 2001 b H¥ essom
¥ 10,000 épxdm H Hocko S 35,000 DEPDAS’ 288 ©0N8M TOS DD,
1999 &' Erdo rE0DHONRIHIB Hod Jordh HOSS T DIES FoOS Iweo
erZio T 1,50,000 &6 oS ey ,

(1) 35,000 (2) 40,000 (3) ¥50,000 (4) ¥25,000

www.sakshieducation.com
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The average salary of all the workers in a factory is ¥ 15,000. The average salary of 12
technicians is T 18,000 and the average salary of the rest is ¥ 12,000. Then, the total number of
workers in the factory is

2.8 508" ©0s% HATE Dt ASIn G 15,000, oS’ 12 Hod BE) b
ottt Aehain G 18,000, sudciny s SASTE Aty Addn dr 12,000, ey &
F3E0S" BaS) Fvdo HATW,

(n 22 (2) 24
(3) 28 (4) 20
The ratio of number of employees in the technical section and the manage on of a

company is 7 : 2. The average salaries of employees in the technical section and

section are T 25,000 and T 47,500 respectively. The average salary of em@m of these two
sections together is (in rupees) - .

2.8 Doad'd Arolias Doy S e dopy, NG LT DT Qn‘.mq:; o, Dnye
7 : 2. rosag Doyl alihe Hien ddo Hddin :}n'_sa‘rg aSthe Hiién Ao,

e A 25,000 dcin Ar 47,500, & Dodh 227 &sihe D5 Hifen Ao
(Grarcbess) @,

(1) 37,500 (2) 35,
(3) 30,000 - {4§

Three persons A, B and C respectively, seconds, 45 seconds and 60 seconds to make one
round around a track. All of them same point P on the track. Thén match number of
rounds made by the persons in the List-I'as given in List-II when they meet again at P.

2.8 SyEsd erdia 2.8 8 A, B, C ©F S550en S8 30 DERR, 45 ED,
2 2.8 Dot P I o Hbfdeo |@rdodod,
] ' Siven T <t 2der 1l & aoryo. DA a8

L List-II/erder -1

(a) 6
(b) 3
(c) 4
@ 2

TI'I-EEIHTHEIm.FEhiE : /0D R0

O @@
(1) (a) d (b
2) (a) c) (b
@3 (@ (b (d)
4 (a) €y ()

Fi1
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A sum of T 2,600 is divided amongst P, Q, R, S such that
P's share (Q's share R‘sshm'l: 2

Q's share  R’s share S's share — 3

Then P's share 15 .
72,600 0P, Q,R, S & &) & Do Hohd
Paer Qardyr RITeEr 2

Q¢ RIr-Saer 3

www.sakshieducation.com

)t P 3005, aTir
(1) T300 | (2) T320 (3) T340 (4) T28D
30. Ramu eamns in July thrice as much as in mhnfhmhﬂumnmmﬂmnf@mngx
July to the annual earnings is :
Tand 286 3T ) sordbo wifer |HE Jod' ST erairds mrb @05, wétE
>BS 5T ) sorcho, HoSé 60 Todo ecrahos A8 :
() 3:13 (2) 3:14 3 3:11 0‘3 12
31. From atown, 10% of population is migrating for various year. If the population at
the end of three years will be from now 96228, then the p lation of the town (in lakhs)
is
OTE SETOIL ¥ IR0 DD Hose 08 Sod IV, oyl
od Sorched an:;-é.ar:méaeﬁ' e e & 228 Aotnod. eod HYS Hie
aver ©59)
(1) 1.22 (2) 1.26 1.32 4y 1.12
32. Match the fulluwmg quﬂ.unnsl @ th the corresponding answers in List— 11 :
List-11 :
(1) Whatpcm:mﬂfﬁﬂui (A) 4%_
(11) What percent ﬂf— (B)  1200%
(iii) 'What percent 0 4 7 (C) 2%
(iv) What percen .3 ].iﬂ'ﬁﬁ is 130 ml 7 (DY 150%
e - | SV oR 208 — 11 & HOALH JIrEdsnod 2eSHHchaw.,
-1 aDer -1
) 2880508 Jodrdo? (A) 4%
(ii) JOoed Té:r% oo h ? (B) 1200% \9
i)) 7S Dot 70 84 83008 ? C) 2%
iv) 6.5 Dod Josrso 130 0. 03007 (D) 150% £
(i) @ G av) <
(1) (D@ (A (B) (©) ©
2) A) (D) B) (©
3 A) € O (@B
4) (A) (D) (©) (B)
P“_ - RTINS . E . -
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A clock was started at 12.00 noon. When the time is 4.30 p.m, the hnu:handhmmma:lrtﬂnugh
the degrees |
28 NAdrSos prermo 1200 fotedy (Drdodofrdd, Maudban aArdbolgo

4,30 8005 I, oo e B0AS Alfiew

() 110° 2 120° (3) 135° 4) 95°
34. Which of the following is in ascending order ?
1808 S’ iy 15508 &9 18 08 7
1321 2113 121 3 - 2131
M 3372 @ F32i O 37737 @ F5%3

35. In a joint business A, B and C invested capitals in the ratio 5 : 6 : 8. If the rati¢ of the shares in
their profit is 4 : 3 : 12, then the ratio of their periods of investments is 3
2.8 @08 arg>rdosS' A, B, C en 5: 6 : 8 Hy8s Dtpadhven L. erdiod a8
PO AD)_B 4131 12 o 8 VP DYS Tere AAHS
() 5:3:12 (2) 8:5:15 (3) 25:18:16_ Ve 2:1:3

36. A person left a city P to city Q in a car at 8.00 a.m. He-travelled at a speed of 90 km/br for
3 hours. After that the speed was reduced to 80 km/hr(If the distance between the cities is
510 kms., at what time did he reach city Q 7
HS 2.8 358 HLID P Hod Hndn @ £Hadcho 8.00 fotond nahenlord,
Hotso 90 8.5, Frand' 3 Hoten |HASrAOtRdD. Sdhare Frisndd 80 8.80.M0. & $hod
ISairdlorrdd. Dodh H&pdne L0 510 4.2 mond Hodn Q § wéd
IO fHBrTiae30 . o

o
() 1.00 p.m. (2) 1.30p.m
(3) 200pm. | (4) 12.30 p.m.

37. The average weight of A)\B'and C is 65 kg. If the person D joins them then the average of
m:ghmnfthnufuurpmshﬁmm‘?ﬂkg The average weight of B, C and D is 75 kg. Then
the weight of A is (inkgs)

A, B S0G0C\THE SHen 253 65 & D o 358 T0s° 50h & Senidd it
220e3 70 S ©3&008. B, C shddin D © Hiféw 280ey 75 S &5pdd A G308y e
Grady y

(180" (2 65 (3) 70 (4) 55

38, A man observes the top of a pole of height 15 m with elevation angle 30°. The height of the man
is 1 m. The distance between the man and the pole in meters is
2,500 15 2. e Do Ty e|fizrm) 30° @ds Yood' S . odd )
1 o, 9848, HoarAs s e Srdsn e

16 14
(1) 143 ® 7 ® 7 4 153
(5] B 118

P11

www.sakshieducation.com



www.sakshieducation.com

39.  In the decimal expansion of 5o the digit in the 7000 decimal place is
o= Gy, 570F DRGES' 7000 S 503 F0S' e o3
(1) 2 - | 2) 4
3] 1 4) 7

40. A closest approximation to the product 0.3333 x 0.25 x 0.4999 x 0.125 x 24 from the following
is ) |
& 1208 S 03333 x 0.25 x 0.4999 x 0,125 % 24 OV 2.8 BSOS JDD B oVO
RISV '

1 1 3 s 1

M 3 @ 3 @ 3 @ 50

3 1 S I 955 .Cj

© B8 BT NT-6 6-~5 54 Q
]

(1) 3 (2) 1 '\O
(3 @0 X

42. The least number wi'tich when divided by 20, 25, 35@ leaves remainders 14, 19, 29 and 34
respectively 1s '
20, 25, 35 SHOci 40 ©F rhochT S 4,M9, 29 Jodcin 34 Fdrenr Ho odiod
LR, WOE - -
(1) 1394 1594
(3) 1894 '\ 4) 1094

- 43.  If ¥ 2420 are divided among A, thﬂtﬁttﬂ=514,ﬂt':-9: 10, then C gets

22420 0 A, B,CoS0A:B=5/4,B:C=9: 10 adDtpmr H008 ey C &rolld
(1) T800 (2) T840
3) T900 @ 4) 2720

44, Among 1100 5?7&0 girls who have appeared for an examination, 42% of the boys and

- 30% of the gi the examination, The failed percentage of the total is
2.E HOEEIEDS 1100 zrentd, 700 wrdios 2% wrend, 30% rdiey aaPDo.
1) e Aesihe do
2
@ 635%

G) 63% | @ 613%

45, The number of primes between 10 and 50 that remain primes when their digits are reversed is
10 DAL 50 & JBHe Womrored, SRS ©oTe PFored 80088
Doraroiedhitorr &) el Hopg | '
(1 4 (2) 5
(3) © 4) 3

Pl [S] . 12-B
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46. Match the following : www.sakshieducation.com
List=1 List -1
A. Litmus (Dye) . Conifers
B. Agar-agar (Jelly) ‘1. Lichens
C. LSD (Narcotics) II. Algae
D. Turpentine (Solvent) IV. Fungi
& 808 VD BEHSHSY,
Do -1 Do -1
A, DeR (@ddoz¥o) I go%bexn
B. =548 @b I BESen
C. LSD (ArdSE|15880) M 3Aderen
D. &3 0T (|[TSed) IV. 3Do|oren
Correct match is : / DOTDS 4 o ¢
A B C D s O
(1) I IV 1 1 0
(2) IV 1 11 III @
(3 1 IV. I I O
4) I m 1 I 0
47. Match the following : | b
List=1I II
a.  Electric charge i. h
b.  Electric field 6 lomb
¢.  Electric potential iii. Newton/coulomb
d.  Electric capacity iv. Volt
&80 8D ae&. :
aDert-1. e -1
250 i s
SSSw ii.  Sexroaw
18 oYahd il Srpdcd/Seroy
S0 QS Baraadd iv. L&)
The correct match is : / DO &G
a b ¢ d
(D 1 iii iv i
(2) iii i i iv
(3) v i iii i
(4) 1 v i 111
P11 ww.saksh@tion.com



48. Which statement is correct with reference to the role of UV radiation in water purification ?

www.sakshieducation.com

(1) It removes small particles.

(2) It kills/inactivates micro-organisms.

(3} It removes harmful chemicals.

(4) It adds taste to the water.

DD HiHG S UV 88eresd H020HoNS SO ajpged HBohdw.

(1) D& Hod Jrg; Bendod Sohoth.,

(2) 2rdi #9500 SoHE/GPESLSN Tako. @
(3) FAECDA SrdhTrw Soflotde, O
(4) D38 oD HDD LOdTO. O
49. Match the following : Q ’
List-1I List-1I P O
A. Lipids i Orange 0
B. Carbohydrates ii. Sunflower ;@.
C. Proteins iii. Soya O
D. Vitamins iv. . " 0
&1 800 arn) B8XG5048. 6
ader -1 D)
A DHBe i 8 ?@
B. o888y i VT
C. |&dSen iii.
D V?'n
£0. Which of the following represents homogenous scientific group of animals ?
(1) Bat, Pigeon, Duck, Hen (2) Crab, Fish, Prawn, Whale
(3) Hen, Duck, Goat, Sheep (4) Man, Orangutan, Gibbon, Monkey
51208 TOS* DA BoSIHO HNAAH TLACH HIETD) ATDDOS ?
(1) 6000, FHSSw, e, FADY  (2) D, T, Bahy, Sofieo
(3) FaADY, aré, E D (4) ArSHh, LEofierS, 2am)S, §'8
P11 www.sakshie@n.c’om
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51. Read the following statements and choosesthivedwrtecteombination ;
A.  Typhoid is caused by bacteria B. Common cold is caused by virus
C.  Malaria is caused by bacteria D. AIDS is caused by a virus
(1) C&Darecorrectbut Aiswrong. (2) B & D are correct but A is wrong.
(3) B & C are correct but D is wrong. (4) A & B are correct but C is wrong

& 1500 DIV BP0 TR DT ERoaD ool
A Darond 2riocir Sod S0, -

B. &rgrdm zenzn pdh o 308,

C. J®8asr2riscir 38 008,

D. AIDS 2.5 300 S0 dedod.

(1) C,Da8Tda 50 A 008 s,

(2) B,D QO TR0 A HOTHASO 5.

(3) B, CRO@AD A D A0TAS 5ot

(4) A, B I8TAD 5 C HOTDAS 5.

52. The practice of growing different types of crops in the same field in sequengial Sedsons is called
- as "Crop rotation’. One of the following aspect is NOT correct with crop rotation.
(1) Reduce the disease incidence caused by pests.
(2) Control of weeds.
(3) Increased crop productivity.
(4)  Depletion of soil fertility.
28 380" Tt B 5o Hotredh LITR doris BESESrHAE0 HodoSE)
‘0§ Ard ) Wotrd. 8800 TS o8 ®0T0 HHPANSIASE SNAHA AEDOE.
(1) D e S0 ST argdoen séihes,
(2) Sengy DwEe dorde.
(3) Soardho edsdddo.
(4) Vo arddodhe e,

53. Ecological pyramid shows the number, emergy or biomass at each trophic level. Generally
ecological pyramids are upright. Howeyeryone of the following pyramid is ‘inverted’. Identify.
(1)  Pyramid of biomass of forest 8&¢osystem.

(2) Pyramid of number of tree gCosystem.
.(3)  Pyramid of energy of seafecasystem.
(4) Pyramid of energy of grasstand ecosystem.
(D8 DS Frow (trophic level) S'Q Ay Sopg I8 TE A0 vIBe DEWS
ArOaow. SRR Gadn dwGen AErdr (upright) dodrow. SR & fod
HEMB S’ 2,563 S 80chen (inverted) ™ AOLVOD. FOR HBOH0A.
(1) @88 eS0n Ji5950 J0LOSHODS B350 ol '
(2) TP S S15050 H020H00S Hopt HES.
(3) DSy 8356 S50 Ho20S0DS 48 HEIA.
(4) HDYY 20hen B8 S5SPE0 DRSNS ¥& DENE.

54. Which of the combinations represent human blood ?
(1) RBC, Lymphocytes, Astrocytes, Osteocytes
(2) RBC, Lymphocytes, Chondrocytes, Astrocytes
(3) RBC, Lymphocytes, Eosinophils, Chondrocytes
(4) RBC, Lymphocytes, Eosinophils, Basophils
Ardsye 558 NoDoHODS e FSI0 A 7
(1) RBC, DogfFpéien, e nden, epfiridSen
(2) RBC, ooy, grold pdHen, ol éden
(3) RBC, offphen, andaden, groldndSen
(4) RBC, DogFpdien, abS hden, 2rFhden

P11 S .1541
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55.

www.sakshieducation.com

Read the following statements :

(a) Sudden and heritable changes in plants or animals are called as ‘mutations’.

(b)  Amla fruit is rich source of Vitamin 'C’,

(¢) Alexander Fleming discovered Penicillin (antibiotic).

The correct option is :

(1) (a)and (c) are correct but (b) is wrong,.

(2)  (b) and (¢} are correct but (a) is wrong.

(3) All(a), (b), (c) are comrect.

(4) (a)is correct but (b) and (c) are wrong.

& 200 DSt arod e ichdo Tabod.

(a) JwHod @8 zoMyod wsFEor HoG eHidso Tosndd sﬁrﬁ}:,uﬁ:
'Arél 10 SOren’ eotrd,

(b) A Heren dE HOSreoS DHNS C D 8 dotrow.

©) oBTodd ok BVIOS (wodcirds) & iy,

DO WIS

(1) (a) 000w (e) E’Jﬂ-@é&] 2 (b) OTLSH .

(2) (b)) 0OCW (c) AAODA 3R (2) RODLAS 0.

3)  (a), D), (c) ®J) HOID.,
@)  (2) SOTDSA SR (b) DO (c) HATDID £,

Read the following statements :

(a) Leaves appear green in colour because they do pot absorb green light but reflect it.

(b) Development of forests in areas where pmﬂuusly forests existed 13 known as

*Afforestation’.

(¢) Carbon tetrachloride is an ozone deplemg substance.

The correct option is :

(1) (a) and (c) are correct but (b) iswraung,

(2)  (b) and (c) are correct but (a) jswreng.

(3)  All (a), (b), (¢) are correct.

(4) (a)is correct but (b) and (C)are wrong. -

& 808 H3dT 0N e ihat dabod.

(8) DFren BHIDITOHY Fuodd mt:;h HoHEH0 FPron S8 @) efondym
EDaaraw.

(b) o8 o mSden &od aol La-mﬁ‘ 0330 ©HIHPR ‘©LD) S0’
(Afforestation) &0,

© 58S OEreDs, &5 oo sodo.

O0ed aﬁ{)ﬂm

(1) _da)ed0din (c) Ao 5N (b) 0TS e,

(2)e (b)) 0BCHD (c) AHOTDA 5D (a) 0T .

@)1 (@), (), () ®, HOTDAD.

4)  (a) AOTAE 5 (b) e0BTW (c) POTDAIW S

Quinine, the drug used for malaria treatment is obtained from this plant

(1) Belladonna (2) Cinchona

(3) Bael (4) Aswapandha

SHBBAITD S0DH0 TobardE AaL3ErRoT 4TS DAS0 & Zns) Hod uﬁ;&.&é}ﬂ&
(1) Bl (2) Do

(3) B 4) edtiod

P11
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P11

Match the fﬂuﬂ'ﬁ"l.ﬂg : www.sakshieducation.com

List~1 List - 11
1.  Ore of Al (Aluminium) a. Magnetite
ii. Ore of Fe (Iron) b. Bauxite
iii, Ore of Cu (Copper) ¢.  Philosopher's wool
iv. Ore of Zn (Zinc) d. Malachite
2D,
wDw -1 Do - II
L ©iACHOo et 8 riy e
TRt S b. 2rBadS
ili. 50 (Copper) réoad c.  erdps yd
iv. 205 ordd - -d SrerBdS
Correct match is : / HOTDS 2D
i i i v
(1) ¢ b a d
@ b a d ¢
(3) d b c a
(4) b ¢ d a

Which one of the following is used in fireworks'?

(1) Sodium (2) Caleium

(3) Sulphur (4) Phosphorous

180d oSS BAD LISAHeIErEr Hod) Sairds’ addrAard 7
(1) &&cho 2) sdHabo

@) $ey5 4) R

Study the following and pick up the wrong statement :

(1) Chief'eells produce gastric enzymes.

(2) _Man has 4-chambered heart.

(3) “~Haemoglobin is a respiratory pigment.

(4) Insulin is produced by o-cells.

& 1800 D 850050 T HOFD AR HBoHHW.
(1) AP Seren 2360 JOBDHOD ad )90 Tained.
(2) SrOIHNS' 4 Achend) Hol .

3) DIPNDS 8 o SYFSw.

4) o-Sere) R0 )OS (Do,

www.sak_ation.com
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61. The solutions having basic character from the fuﬂnwin;m:

1.  Lemon juice
ii.  Washing soda solution
iii. Vinegar

iv. Milk of magnesia

v. Coffee
1200 o8BS’ 36 thmo o [Trderen
L Qe 8o ¢

ii. afe Mo |ordedD

iii. =aNb ‘

iv. D & Biyachr
o

(1) i, i, v @) ii,v

(3) 1,v (4) ii,iv

Natural rubber is.polymer of O
(a) Ethene (b) Isoprene (¢) Acety

(1)  (b)only Q) W

3 (@), ®) @) 4)

HITBPS S0)H S’ aoll FOHHY _

(@) &BS (b) ADS ROS

(1) ®)SmSDH (c) S

(3) (a), (b),(c)

@m (a) SH S

Which n::-fr.hefnlluwmg mpnm@cmﬂfh:&:?

(a) Pure water

(¢) Air % {d] Steal

(1)  (c)only (D, (2) (a), () only
(3) (@), (b)yonly 4) (a) only

& 808 0 109 ATIrTen ?

(a) B) 230

© d 5

(1) 2) (a), () IS
(3) (M. (b) Sm&sh 4) (a) SMSD

(1) Nitrogen, Sulphur

(3) Lead, Mercury
nﬂé‘xmvuummmmw:@"aaﬁm X 58050 Y &0

DT

() BESS, Hnb
(3) D& Daysd

(2) Sulphur, Lead
(4) Nitrogen, Lead

a‘mﬁ. [a]e
4) PS=s B8

P11
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rain” is caused by the presence of oxides of X and Y in air. X and Y are respectively




67.

Maich the fﬂ"ﬂ“‘i‘l‘lg - www.sakshieducation.com
List - I (Physical Quantity)  List - II (Unit)

a. Surface tension i. Poise

b. Impulse ii. Pascal

¢. Viscosity iii. Newton/m

d. Pressure iv. Newton-sec.
508 el s tod.

ader -1 588 oof) wDor - I (BDSremsn)
8 el . arowed
b. OS5GS0 i, 2;r0ydS
c. M)fe i, Sorpeasi/dD.
d. DGI50 iv. Ardc-PEd
Correct match is : '
AOTS &G :

a b ¢ d
(1) i i iv ]
(2)  iii ii i iv
(3) iii iv 1 ii
@ v i i

B
-

Pick up the wrong statement of the following :

(1)  Light year is the unit of time.

(2)  Cream is separated from milk when(tds,churned. This is due to centrifugal force.
(3) The density of water is maximum 8t 4 °C temperature.

(4)  The velocity of sound on modh.is 2ero.

& 808 RS HB:D oS80t os.

(1) 508 HOSHS IG5 BIESTOANSK DT,

(2) Tod DOESYAYIS) FDHd&08. HVE sEnid @d Yol erdw.
(3)  4°C Afiie SF NS o|ded KBRS,

(4) HoIDDING 3 Frisw Fragein.

Pick out the Wrong statement in the following :

(1)  Steel is more elastic than copper.

(2) ¢~The audible limit of sound of human ear is 20 Hertz to 20000 Hertz.

(3) “<'When light travels from air into glass its frequency changes.

(4) Cadmium rods are used in Nuclear reactor to control nuclear fission.

& 1808 DS’ HB:D a5 Hdotod.

(1) ©ON 500 &by pad P8 B0y,

(2) DN TD DS &Y H5 HOG 20 Tr o 20000 21T

(3) o8 md Dol rerd's |HATBODSIH TR DS STEE0D.

(4) Bo|&5 OCr§sS’ doi& DDA ey TahardE 28000 0l sEeh.

P11
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68. Assertion (A) : If a body moving fif"4°2i¥¥6il¥F % has constant speed, then there is no force
acting on it.
Reason (R) 1 'I'hé-gimr:diﬂuuftlmwlﬂcityvmmrnfabadymwinginntimulu_palhis
changing.
(1)  (A)is wrong (R) is correct.
(2) (A)and (R) are correct and (R) is the correct explanation of (A).
(3) (A)and (R) are correct and (R) is not the correct explanation of (A).
(4) Both (A) and (R) are wrong.
PDADBS (A) : 28 IS PSS BoH SNH SIS 5O dwdyS, TR
pOS0 HATHED.
PEHO(R)  : 2.8 3)=8 Srdoss SDoT 309 38 HOF B3 SPBEHOBD.
(1) (A) é:!b;. (R) 28 escnaddy.
(2) (A) SO (R) DO, HBAM (R) 808 (A) 50 HO ®and mm
(3)  (A) OAW (R) A8 wondd. O/ (R) 088 (A) 5 28 IJ082
0.
4 (A) OO (R) &3y,
69. An observer looks at a tree of height 15 m. with a telescope of magnifying power 10. To him the
tree appears
(1) 15 times taller (2) 10 timesTiearer
(3) 15 times nearer (4) 10 times‘aller
15 0. DSy TP, 2.8 548, eSS0 10 A QFES00R &ddIrNc a0 TI .
bt & T
(1) 150D SEI™ DN, (25 N0 B &S DR,
(3) 15 B& SHEm EDDaod. T 10 DeY G SQDN0S.
70. Match the following : -
List -1 List - I~
a. Dalton i. Laws ofimotion
b. Newton 1. Atomieheory
c. Faraday iii. Theorpof relativity
d. FEinstein iv. (Laws of electromagnetic induction
& 208 QD 285580 04.
aDer -1 Do -1
a FOSI™I 58 Rcharen
b. SO i sysren Hiposin
. P8 il by depodaw
d D8RS iv. JSchEArod Bde ArEren
Correct match is : / 3D &G
a b ¢ d
(1) 1 i v iil
(2) i @ iv i il
(3) iv il ii i
4 i ii iii iv
P11 LS| 20-B
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Which one of the following statements is not correct 7
(1) Alauddin Khalji detached politics from Religion.

(2) Mohd. Bin Tughlag introduced ‘Iqta’ system in Delhi Sultanate.
(3)  Firoz Shah Tughlaq Collected ‘Jiziya' even from the Brahmans.

(4)  The famous Persian festival ‘Nauroz’ was introduced at Dalhi Sultanate Durbar by Balban.

& 800 OS" D (DS5SS0 HOBANOA S 7
(1) &0 00 T28cHINODH FHHON0S Berads Hd)

) A8 HDIVES BT DErSSd HIHDBO K B-DS-SiE.
(3)  (2&rIE0e OB Seh 2RI D) A SAren FHOO ST -r-Hifs

@) 1500 TobS SRS Sodts ‘TS 8 S SorBe’ wre)S BIDYS

72. March the following :
List-I List-II
(a) Kabir - 1 Cobbler
(b) Raidas - i Rajput
(c) Sena - 1l Weaver
(d) Pipa - iy Barber
& 1800 E3R e BETHSW.
arDer-1 wrDer-1I
(a) D5 - 0 S
b) Cawerd - i ozHdS
€ & - il Fesddd
(d) S - v Sdsdod
@ ® @© @
(1) iii 1 iv ii
(2) iv i 1i i
(3) i iv 1 jii
4) i i v
73.  Match the following :
Texts - Writers
(a) Tarikh-i-Firuz Shaki - i [sami
(b) Tabagat-i-Nasiri - i Zianddin Barani
(c) Futuh-al-Sglatin ~ iii  Minhaj-us-Siraj
(d) Tarikh-i-Mubarak Shahi - iy Ahmed Sihrindi
& 506 TR BT,
(fiodisnen) | (Sonden)
(a) ®&8e-u-5¢S5 xtr - i @
(®) “Serid-a-4 0 - i AciradS 28
€) D=0l -JerddS - il S -wT-hos
d) wof-2-dvarsE iy - v w8 HErod
The correct match is : / 50T 2368 -
(a) () ()
(1y i i iv i
(2) i i i iv
(3) iv u i i
4y i 1] ii iv
P11
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76.
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Arrange the following wars chronologically :
(a) First Anglo Mysore War (b) Third Carnatic War
{c) First Anglo-Maratha War (d) First Anglo-Sikh War
& 1806 chgSnod) BerdEhod |adind.
() [ soff-DArdD dinGan (b))  Surhs SPOS dlngsn
©) B eol-HIrod co@sn . (@)  Bcde soll-Rsy; clngdn
(1) (), (a), (c), (d) (2) (c), (d), (b), (a)
(3)  (d), (a), (®) () (4) (a), (b). (c) (d)

Assertion (A) :- In some places Artisans and craftsmen participated in the revolt of 1BS%

Reason (R) :- The British Economic policy destroyed Indian Village Industries and Handicrafts.

The correct answer 15 :

(1) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(2) (A) is true, but (R) is false.

(3) (A) is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the correct ::mlanﬂ:tiﬂn of\(A).

mm; (A) : 1857 a&herend TS I)8XD;G-H0cn T8 Hyho o0
g W0,

Poms (R) ; 1 DSD 6T 60 Derdsn oSt mde JoFNes Hdcky S8
Soterds arddaw DA, ,

BN NarEIN0

(1) (A) HOCD (R) Bodr Dz3edn, SR (R, (A S8 HOs00 e S

(2) (A) Q230 5N, (R) &3y

() (A) S35, R B0
@ (A) SO (R) Bodr DBKD! (R), (A) S8 H0&0S DIBE.

Assertion (A) :- Th:MughﬂEmpummmdmmaimagm:faﬂmaﬂnHadnEhahmdhhmnd
Shah Abdali's inVasions.

Reason (R) :- The Britith East India Company treated the lﬂ:tMughﬂltmiJﬂ‘ﬂIﬂmﬂigr:a:
contempt. :

(1) Both (A)and (R) are true, but (R) is not the correct explanation ﬂf{h]

(2)  (A)dstrue, but (R) is false.

(3)  (A)ls false, but (R) 1s true.

(4) { “Bbth (A) and (R) are trve and (R) is the correct explanation of (A).

(A) : TOBr HOC erS-r-eFd Soddrge éoid JnHwo

HébSo FiScSDaSL.

PoESD (R) : D80 &réh) =08l Hoddn 458 Inond IEsHod T
ZrSS0a A Red.

(1) (A) DB (R) Bodr Dassiw. SR (R), (A) S50 SO©0NN D0 S

() (A) d230 5D, (R) Sizy.

(3)  (A) &3y SR, (R) Daso.
(4)__(A) 500w R) Dodr dasid. (R), (A) 350 S0saws IS0E.

PFil
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77.  For whom Tilak acknowledged as his Political Guru ?
(1) Bankimchandra Chatopadhyaya (2)  Vishnousastry Chiplankar

(3) Chatrapati Shivaji (4) Sisirkumar Gosh
808 I8 5 orabad S HBoT.

(1) 2ofodo|t) H&rerch (2) PTQ DroLs
(3) PleDHa oA 4 336 Hdird rn

78, Which of the following pair is not correctly matched ?

(1) Karshak Praja Samithi - Fazul Hag

(2) Unionist Party . = Liagat Ali Khan

(3) Indian Muslim League - Mohd. Ali Jinnah

(4  Khudai Khidmatgar - Khan Abdul Gafar Khan
& (800 TS DA 1B BONS 26 K ? '
(1) 585 |5 Snd - by .

2 chrdcHR > - OairpdedipS

(3) ROAADLS SRS O - DSedac

@) Soron S85&mE - IReRS KNG oS

79. The popular folk Dance of Maharastra-is kiown as

(1) Dandiya (2) Thumn

(3) Dadra | {4) Thamasha
DITHIS'D HS0R 2FPHE Spedgeio

(1) oolddir ) S

3 oTw ¢ (4) SSrar

80. Arrange the following Political Associations chronologically according to its inception :

(a) ¢Madras Native Association (b) Poona Sarvajanika Sabha

(c) All Assam Ahom Association (d) Indian Association

& 800 023809 SoPOD B IDB0DODS TeNM 28 SeridIEH0S" |ciuy,
(a) IR TS eFLThAS (b) e DGsadE D

€) ©d o) et oFLaAS (@) 200HS BFDEHAS

(1) @)@, @) © N BN ONONGNC)

(3) () (@) () (d 4) (a), (), (c), (d)

I e ——,
5]
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81. The Nagara, The Dravida and the Vesare are

(i
(2)
(3)
(4)

The three linguistic groups in India

The three main styles of Indian Temple Architecture
The three main musical ‘Gharanas’ prevalent in India
The main Social Groups in India

S8, 1R SHbcin F0s exn

(1)
(2)
(3)

TOSTHOS'D Brdd DG grar Dgrme,
roaBios' Jurdh Barodh Dovie oy Hiden,
FOSBI0S D Sureh 1957 Hofiss Hoar Hdew,

)

QO

*

@) TOSTHoS D Mrdth (DGTS epdden, ,\O
82. Match the following : | &
List.1 {_s
(a) Pandith Ravishanker i 13
(b) Bismillah Khan | amthoor
(c) Pandit Shivakumar Sharma '@ Shehanai
(d) Amjad Ali Khan % iv Sitar
& 808 TR 3D . |
aDer-II
i HES
i Dodrd
il R
iv oS
(1) iv m i i
2y i ii iv il
(3) iv i il i
(4 i iv i iii
P11 k - [ §] B 24-B
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Many earliest Buddhist sources mentidEs a5iit Sk Mahanagaras of North India. They are...
(1)  Ujjayini, Saketa, Sravasti, Kausambi, Kasi, Rajgriha

(2) Taxila, Saketa, Rajgriha, Champa, Kasi and Kausambi

(3)  Saketa, Rajgriha, Kasi, Champa, Sravasti and Kausambi

(4)  Sravasti, Pataliputra, Kasi, Champa, Saketa and Kausambi

@88 POSATHIWSR ad Jop; IBIvoH SHT SO TG |Hodhswen
PEHOLNTY 0N, B eSS

(1) &P, i, 7SN, TRrod), 57 Hockny ovaiiysr,
(2) @530, s, oan)ly Sod, o Hodin Frod.
(3) B, oyl 8, S0d, (35 Hodin Tarod.

4) (S, FODJS, 57, Hod, FES, Hoow FRrod.

Assertion (A) :- The Gandhara school of art is also known as the IndetGregk school.

Reason (R) :- The Gandhara school of art was highly influenced by the Greeco-Roman traditions.
(1) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(2)  (A) is true, but (R) is false.

(3) (A) s false, but (R) is true.

(4)  Both (A) and (R) are true and (R) is the éorfect/€xplanation of (A).

DB (A) : TogS §93OR 20852 &l Sror Deovart.

PSS (R) : mogrd §¢v30 |AE-FHSroNorabane 3¢ 20 (H2rDS5Ha008.

(1) (A) SH8c (R) Bodr D2, 3 (R), (A) S5 58008 DSBS,

(2) (A) Qa0 5, (R) iy,

(3)  (A) &3y W), (R)AB0.
@)  (A) 2o0cin RYDodr dzssw. (R), (A) S8 SO0 DS

Which text(describes “a daughter has been as a source of misery” and “only son can be saviour of
the family*2
(1), ‘Shatapata Brahmana (2) Kausitaki Brahmana

(3% Taittriya Brahmana (4) Aitareya Brahmana

BRI dsptl OEIPH  SroODHY Tawdr ﬁamal 58038 HSrid
SPS T S0 DSBS (Hoddedw.,

(1) ¥S5¢ 2eme (2) hHes i

(3) BSBAdH |2 | (4) &0dh 2w

Fi1

—_— — — = —rwr ——— R ——
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Which pair is not correctly matched '}

~ (Gupta Rulers) (Their Queens)
(1) Samudragupta - Dattadevi
(2) Chandra Gupta [I - Dhruvadevi

(3) Kumaragupta ~ Prabhavatidevi
(4) Chandra Guptal -~ Kumaradevi
& 1200 TAS' O HBWOS 2éb T ?

(DR ovaren) (370 3§ HTrHrew)

(1) DSwES MHayesd -  &egd
(2) Bodasd Soldrecio - Goardd
(3) Hodrd Hhyt - | D2rSand
(4) RodéE So|ibayd - Bodrsdd

Arrange the following composition of texts chronologically :

(a) Bana's ‘Harshacharitra’ (b) Hemachdndra's/Kumarapalacharitra’

() Chand Bardai’s ‘Prithvirajraso’ (d) Bilhan*s\tVikramankadevacharitra’

& 808 (oGSO 8 |TAHRAS FOIMIO0 (HEFEND SerdEnoS H s,
(a) areaditpa) Ay Qo s’

B  rdothR Sk ‘Sosrdare SoE’

© orodaboran Jk; ‘DodsoSo

(d) D T ‘DFSrosES SOS

() (@), @), ®) @ @ (), @), (), (d)
(3) (). (a) (®), (c) (4) (a), (), (c), (d)
The Sailendra Rulers of 8ri Vijaya Empire established two monasteries in India. Where were they
located ? |
i Bodh Gaya | 1.  Nalanda
iii. Nagapattnam iv.  Saranath
The corredt &ndwer is :
(1) i andiii (2) iiand iii
(3~ il and iv (4) iandii .
T Dasch Sressd IBoS Taren rESEIoS Both Hovek 6858 D Dods 7
i, A% Hah i, Seod
i, HS&0 | iv. arSod
DB DIPLFSO ¢ .
(1) in0oiw iii | (2) i OGS il

(3) il O iv (4) iSO

= — -
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Match the fullnwing : www.sakshieducation.com
(Kingdoms) (Capitals)
(8) Pandyas - i Uraiyur
(b) Pallavas - i Kanchipuram
(¢) Cholas - i Kuruvur
(d) Cheras - iv  Madurai
51808 VD 2SBBHID. o
(Cragsnen) (S0 Hfpeesnen)
(2) Jrodosen - 1 adchrd
(b) HDyew - i SoDHGSY
(c) Skben - il S
d) Ten - iv  Bcp
The correct match is : / QOTed 2368
(@ (b) (e) (d)
(1) i v i
2 i # i v
(3) 1 iv i i -

4) iv 1u 1 ii

'Auerﬂnn[AJ:~Th=EhnlumthnhadnmEuvmmmphtin5wthEmhﬁnmspfm

Indian Culture and heritage. |
Reason (R) :- The Chola kings wefe-passionate about Indian Culture, religion and heritage.
(1) Bﬂth[.ﬁ.}mdm}mmhm{ﬂ}isnutth:mﬂmuphnaﬂmafm}.
(2)  (A)is true, but (R) i false.
(3)  (A)is false, but (R) js true.
(4) Both (A) and(RY are true and (R) is the correct explanation of (A). .

|B DS (4)s 15%0en &) o ehaird’ orsichH D058 S8k TS S DONSK
THRTIFVE DT HAPD 28 DOPS METEIR) VDO,

PO0ED (R) : SY ToHen 3rd80H D008, Hs0 SHOGHD TEDSS HoDS Soi
TEDISE 08 5080359 EOAST. - |

() (A) S0cin (R) Dodr Mz, (R), (A) % HO800S DG 57y,
(2)  (A) D0 R, (R) Sy

(3) (A) 83y 50, (R) Daso,

P11

4)  (A) DO (R) Bodr Dasasn. SHBC (R), (A) £ HB&0S DS,

| 27-B
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Which one of the following organisations is proposed, in the last week of June 2018, to be
established by the government of India for the improvement of academic standards and the
quality of higher education by repealing the University Grants Commission ?

(1) National Council of Higher Education

(2)  All India Council for Higher Education

(3) Higher Education Commission of India

(4) University Education Commission of India

2018 23S 0S8 o, Doy |NSrere D BHo HO &S D& T é%

$
Dotkeo FHo s 1Hibd o arRStd 1modl) EadS ardod’ fod odld’
HORD DTN TBAITreA |DSOoD0 7

(1) FaSS S e rabb SsEns

(2) &b 30adr TS HB robyl 2 Eae
(3) oDl BN SIS ey Fodcir

() cOrRS0 8 D EaS SAS @D 0dair

92. Examine the following statements :
A. The subjéct of the prevention of food adulteratiom 18,in the ‘central list' of Indian
Constituion. ' -
B. The ‘Prevention of Food Adulteration Act, 1954’ ¢ame into force on 28" September, 1954
in India.
Choose the correct answer :
(1) Both A and B are incorrect {2)) Only A is correct
(3) Only B is correct > (4) Both A and B are correct
800 sored H08Dotsod
A @55 30 Dok H0200008 ©oio grtd ool ‘Sold arde &' aod.
B. ;;ﬁ ﬂ:{a Dirdm 550 1954' r8S8BiosS’ 1954 ol 28 vk edend's
y . :
HOTDS B2 JEHETHoA ; ‘
(1) ASBAN EBoAr SO T3 (2) A SM&h HOFTLAS
(3) BSOS AOTd (4) A &0d B Dodr HOTHSD
93, Which of the following are included in ‘abiotic environment’ ?
A. Wind B. Water C. Animals
D, “Plants E. Soil
208 4S8 20% (0DHErSE) rerstood’ TE PN D 7
A. o (TD) B. A% C. 208
D. oofaen E 3o
Choose the correct answer : / OGS 283:7720:0 HODE Wabod :
(1) B&Eonly (2) * A, C & D only
(3 ABCD&E (4) A,B&Eonly
P11
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In retaliation against US announcement imposing tariffs on steel and aluminium items in March
2018, India notified higher tariffs on items imported from the US which include :
A.  Almonds, apples, walnuts |
B. Phosphoric acid, boric acid
C. 800 CC (or more) motor-cycles
D. Some grades of iron and steel

378) 2018 &' &), GUrELACHO SVHOD WoFe IO GDAT &)
DGOSTrRS $5ABEOT | HAPGOS WO H0d AHHS TnH S0 D IWHOD
2SS0 S NOTOS (HIB0D0S ?

A, @60, DY (IDSG)), TS0, ((8%4Y)

B. arar)okesvo, 508 edo

C. 800 CC (o200 &085) JDo0N) arérs i

D. 20, &8 Hododhod Fy dsren (7S

Choose the correct answer : / DO BT200 HODE Tdhod :
(1) B,C&Donly | (2) A,C&D only
(3)  A,B & D only (4) A,B & Conly

Examine the following statements about Telangana and India on the basis of data provided by
2011 Census and Socio Economic Outlook 2018 ;

A. The percentage of urban population to total‘poptlation in 2011 was more in Telangana than
in India.

B. The percentage of decadal population.growth rate during 2001-2011 was also more in
Telangana when compared to India.

C. The sex ratio of population in’201 ¥ was more in Telangana than in India.

D. The literacy rate of population in 2011 in India was more when compared to Telangana.

E. The density of population it 2011 in India was less than that of Telangana.

2011 a7y Sros gl D0l ‘FATr JEIE Ddens - 2018’ WoAODS JSrordo
srdor S0orR DO PFrISTHoN SowohHod) 08 IISBROS (WorTed)
583000 ;

A. 2011 H0SSH 50" Bndo amrrd Hhe sy réo prdaiod' iobh Boorads'
503N oS08,

B. 20002011 &7 ey 3T S8 Ue.n TS0 Soa eristiiod 20 8 Svornd'
505 drodod.

C. 2011 & axrerd’ Doff 1.)8 rddBiod Som Boomre S 8. .

D. 2011 &' sfode Ben vomrard’ 80 ¥ réaliod’ 255m acdod.

E. 2011 &' 27z Fro|&e Boomn $0) ordalifod’ 850,5m aodod. .

Choose the correct answer : / DOTDS 2arand JobE Fobod :

(1) A, CandD only (2) B,D &Eonly

(3) A,B,C,.D&E (4) A,B,C &E only

www.sak cation.com 19-B
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Which among the following are guaranteed by the Constitution of India ?
A.  Freedom to move freely throughout the country .
B. Freedom to assemble peacefully without arms
C.  Freedom to own, acquire and dispose a property anywhere in the country
D.  Freedom to practice any trade or profession
808 i3S’ 38 prdé orarolio H* @O ?
A T30S D 1rodod wonar HISIT HotdoT DS,
B. wacingdarodor 7oacing Sdrdren 2505F Ts).

C. rodf¥os D oo wond esNen O8 @od So>00T HB
&:5002500 53

‘D, o JErdo Bor 598 sona TS D).

Choose the correct answer : / HOTDA Bar2ne) JODE TADOS :
(1) B&Donly . (2) A,B & D only
(3) A, C&D only (4) A,B & C only

Arrange the names of the following Speakers of Lok Sabhadn ‘& chronological order of the office
they held :

a. K.5. Hegde - b. RabiRay c, _,El.'lum Jakhar

d. Shivarsj Patil e. P.A. Sangma

808 ATD0HRAS E'S B TS HSH Wmo BrooT @808 ;
2. SR b. 608 ) ¢ wooo 258

d. IS0 rads e Do) domyd

Choose the correct order/answer 4/ STeraid | Eeo/aar 20 JonE Bahod
(1) c¢adbé&e (2) ec.b,a,d&e
(3 acbd&e 4) adec&b

Examine the following statements with regard to office of Speaker of Lok Sabha :
A. Neglam Sanjeevd Reddy was Speaker of the Lok Sabha twice.

B.  Speakerafthe Lok Sabha always comes from the ruling party.

C. K.S.Hegde was succeeded by Balram Jakhar as the Speaker.

D. The Protem Speaker of the 16® Lok Sabha was Jyotiriditya Scindia.
S8R0 V)58 HANE 3020HONS 808 DIB@OS HODoSos

ANS S5 VY0 Ao HOAS BY Bodh ) H80S’ ol

B, 8038 ol ed) Ive H)E5 ) Fadb.

C. 200D =88 3.0, Tl dhard H)E8 DA DY AroTSw.

D. 165 S8 H 0D )58 2'BorOé; HOOTT S5ST00TIw.
Choose the correct answer : / S0 RArTTR) D0E Tahod ;

(1) A, B&Donly (2) A&Conly

(3) A&Donly (4) A,Cé&Donly

Pl
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99. Examine the following statements with regard to Telangana State Panchayati Raj Act, 2018.
a. Roznamcha is a diary in which details of dead people are maintained.
b. The quorum for the Grama Sabha if voters are 3001 to 5000 is 300 members.

The eligibility age for office of Sarpanch is 21 years, -

d. The number of wards in a village with population exceeding 1500 but not exceeding 3000 is
11 (eleven).

BOOM T Dotrone oef K40 2018 & Ho20H0DS DSGLOH HODoB0A |

2. Ao Sive DIored SArch Takn B6 Faddr) o,

b. 3001 cood 5000 SE Hosy (e 525 B 300 HoA HEDgew.

c. (P AGH0W DADE wQeh Scin) 21 Hoseé yorew,

d. 1500 2areradd oD HAAN 3000 Baryr Do (Moo Hows 11

L
=

(ST o).
Choose the correct answer, / DOTDA 220D Jo0E Tabhod's
(1) a&bonly (2) c&donly

(3) b,c&donly (4) acé&donly

100. Examine the following statements with regardto\t&'Constitution of India ;
a. Area-wise reservation (371D) prevailsover reservation under Article 15(4).,

b. The main object of Article J2~is“0 secure paramountcy of Constitution in regard to
Fundamental Rights.

¢. Under Article 13(3) p&rﬂmnmtcy of the Constitution doesn’t extend to non-legislative
sources of law.

d. Article 17 has beefi implnmuntnd by Protection of Civil Rights Act 1955.
arseéh oo H020H0N 80O 38RO H02D00S

a. ©OIS00.I5(4) S D008 BaB0S FESIOD WOES80 371D 208 D008
0250 03 RrEG0 Tewzray 88008,

b. @RS rEnod HoROHOD TErOrHSiSs frosdd ©dE800 12 TWE)
Sopg agio.

c. ®OE0R0 13(3) SeDHOOD) THTES B¢ LTt oariomdEs S8ocih.

d. &8s e D085 SO0 1955 o 400 ©HEG0 17 Bden Tohadheod.

Choose the correct answer : / ﬁ@@:ﬁ 220N JODE Hdhod :

(1) bé&donly (2) ab,ec&d

(3) ‘b,c&donly (4) aé&donly

———————— . D e e — x _— —
— — = — - ————
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101. Which one among the following is not true with regard to joint sitting of the Parliament ?

()
(2)
3
(4)

In the absence of Speaker, Deputy Speaker presides over it.

In the absence of Deputy Sepaker, Deputy Chairman of Rajya Sabha presides over ir.
In the absence of Deputy Chairman, the Chairman of Rajya Sabha presides over it.

It is presided over by Speaker. '

1808 S’ 3ERodS Hodknd HAFFiSneH 2020000 JODIA TAA.

(1)

(2
3
4

258 BOS" Auyres £)85 @558 & 3o,

A335e8 056 BS, oragndl AdyrseS DDLS @558 & S2roricd.
Qo353 B0 BAS, oraginds B01S 655 & S0,

£358 eS8 & S0t

102. The Grand banks and Dogger banks are famous for

103,

104.

(1)
(3)

Pearl fisheries (2) Shallow water fisheries
Deep water fisheries (4) Coral reefs

rod ar oSy SHBain @il erjoioen B8 0 ?

(1)
2
(3)
4

(1)
3

(1)

a0eh sy HODHGE So2odHoD Hé: |Kreo

M serod’ oo dhen

ere aorad’ oot o

DT DEEen
‘Milpa’, a type of cultivation in Mesoamerica is knbwn-ds

Shifting cultivation - (2) \Nomadic herding

Plantation agriculture (4) > Subsistence agriculture
VDO 'R0 ‘Dery o PO HOT HhHh a7

IR afanrdbo (2) HHrER0

&) HgdoHo (4) HSord Sisdraho

(3

Which one among the follwing.is not correct 7

(1)
(2)
(3)

(4)

President of India“with the consent of the Governor can entrust any matter related to
executive power of the Union to thé State Government,

Govemor unconditionally can entrust any matter related to executive power of the State to
Government of India with its consent.

President of India without the consent of the Governor can entrust any matter related to
executive power of the Union to the State Government.

Goyemor can entrust conditionally any matter related to executive power of the State to
Government of India with its consent.

B0 TS KA DA IA?

(1
2
(3

(4)

08 1D30és SEIN0LTE @SOS D DADINTT N8, K386
e BE' o7 ) 19920 550850 @HIN0TS St I,

o b SEIN0ErE edrdsnod’ O DAdbnRT K585 Baddr Yod
DZheb s edHad O ed o S .

SOl (DZheds SEINT RIS 8HSGSoS D DACHINTT K385 &8
TR0 TR 15208 L5055 853005 ST I

O Db SN0 LT BTSS0S’ D DRCHSVTY #3515 Yol 1H2heg
08 & 0 ASoE N0t St ).

P11
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List -1 List - II

(8) ‘V’ shaped valley i Wind erosion

(b) ‘U'shapedvalley ii  Karst topography

(c) Sink holes i Glacial erosion -
(d) Yardangs v River erosion
8080 80 BaSGSOS: -

Do -1 Do -1

8 ‘Vesdydsah i H581808dbo
b)) Verdsddah i DTS PorEd

(€) ~ofanrd) i SIS |ESHE abo
(d) oirBarofis iv S8 |EEcho
Choose the correct answer/pairs : / 0T Ba20/BSO DODE TAHOAD ;
a b ¢ d |
(1) 1 iv i 1
(2) iv i @ i
3y i il i iv
(4) i i v i1
Match the following :
List-1 List-lU
(@) Inter tropical convergence i Equatorial calry
Z0nc
(b) Polar front ii  Sub-tropical calm
{(¢) Horse latitudes ii  Cofivergénce of westerlies and
polareasterlies
(d) Doldrums iv, ‘Convergence of N.E. & S.E.
trades
808 el 8aHGS00
Do -1 Do -1
(a) 08 adhas By i 2 By Domge hodeo
dide Hodero
b)) Do Twriio | i adachs B Ao d Hodeo
) ®&i5ogored i 70 ddve edHGe0 SO
| e &80 DedrTren
@ &Efdoen iv  derdy Docy emfadd aprd
SsSre @dHdoo

Choose the torrect answer/pairs : / SO Barenady/286:5% JonE Tabod :
a b c d |

(™gii  iv  iii i

2 i i i v

@ iv i 6 i

4 1 Wi iv i

107. World's deepest oceanic trench is
(1) O';?. (2) Mariana (3) Puerto Rico (4) Sunda
Pary G BITETS 0 Dl Sodio 2B T
(1) &or 2) Sog . (3 ooy @ oo
m www.sakgalcation.com
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108. Assertion (A) : EI-NINO phenomena is associated with Peruvian current.

109,

Reason (R) : Peruvian current is a cold current.

The correct answer is :

(1) Both (A) and (R) are individually true but (R) is not the correct explanation of (A).

(2) (A)is true and (R) is false.

(3) (A)is false, but (R) is true. |

(4) Both (A) and (R) are individually true and (R) is the correct explanation of (A).

DAV ES (A): IS-JS @©F  Sishcho DEFDESS SIS (Hwrod
- o000, | -

OO (R) : DEFIADS HAWS (HTET0 2.8 TS |Darro.

QO TS0

(1) (A) 0O (R) Dodr 28y 5 (R) &8 (A) 50 HOTDHAS Dadten s,

) (A) ©TO 23, 200K (R) &8O Sy,
(3) (A) ®30 &3y 50 (R) @D 2.3y,
@) (A) DO (R) Dod™ sy 0N (R) @6 (AP OTed DSB8,

Assertion (A) : In southern hemisphere, westerlits are stronger with very high velocity of
| winds than in the northern(hemisphere.

Reason (R) : In southern hemisphére,, there is vast expanse of ocean and therefore
: westerlies attain terrific speed.

(1) Both (A) and (R) are individually true but (R) is not the correct explanation of (A).

(2) (A)is true and (R) is false:

(3)  (A)is false, but (R) is Ww0e:

(4) Both (A) and (R) 4eé jtidividually true and (R) is the correct explanation of {A}
The correct answer i8¢

(DODES (A) :\ Sherd A¥oS ey :ﬁ;,m DaTre adod A¥odS' &) )0

Sdare £0% 8dE Fhod avomr Hrown.

rimo B : Sferg Ao Dre Jdnrod Hoddo SFreor HT)S DSTeD
RS Vriod' woeraw,

O G0
(1)  (A) SHOGIL (R) Dodr 25y SR (R) @0 (A) 50 DO DSt 7.

2)  (A) ©TO 2y HOA (R) 03 &,
3) (A) OO S35, 50 (R) ©FO 25y,
(4)  (A) O (R) Dodr 2.y OGN (R) ©FA (A) 50 HOTDHA D380,

P11
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Assertion (A) : Coral bleaching refers to whitening of coral reefs.
Reason (R) : Great Barnier Reef near Australm is the largest coral reef formation,
The correct answer is :
(1) Both (A) and (R) are individually true but (R) is not the correct explanation of (A).
(2) (A)is true and (R) is false.
(3) (A) is false but (R) is true.
(4) Both (A) and (R) are individually true and (R) is the correct explanation of (A).
DAJES (A): (DY Hook oo Daod Datod DSHETE @ur TR
sSmo(R) : e pdalir &6 Lﬁeﬁ 2rOaD5 85 ©36 2.8 Do L;':a'# Hag.
BT Hadrordo

(1) (A)SOc50 (R) Bodhr 2.3y SR (R) @30 (A) 50 DOTA DSGED S
(2) (A) 0B a3y 0805 (R) o6 &3y,

(3) (A) ©FTS S5, 50 (R) 0TS .5y,

(4) (A)0Oakn (R) Bodr 2.3y SHdakin (R) @3 (A) 5 SO e,

Examine the following statements :

A. A biodiversity hotspot is a biogeographical region, which is hadn;calijr diverse.

B.  They have high concentration of endemic species.

C.  Western ghats in India is a biodiversity hotspot.

208 T oD (RS8n0N) HODodod

A, AN B[S IS > g‘uﬁ 2.8 45 o7 HVE (Srodo, ad .8 E!-‘.‘.u:’:rﬁﬂn' DS Dok,
B. ®d3aEardod ebior Solhs)s abirbn.

C. rddBiod 1730 e 2.4 A8 DDy A yéb.

Choose the correct answer / statements : / SO0 DRG0O0/25720: JODE Babod :

(1) A &Conly {(2)_/B & Conly

(3) A,B&C = (4) A & B only

Assertion (A) : North-east and nobth-west Atlantic ocean is one of the major fishing grounds of
the world.

Reason (R) :The warm wm:r of Gulf stream and the cold Labrador current meet near
Mewfoundland.

The correct answer is :

(1) Both(A) and (R).are’true but (R) is not the correct explanation of {A}
(2) (A)is true and (R) is false.
(3) (A)is false'but (R) is true,

- (4) Both{A)and (R) are true and (R) is the correct explanation of (A).

DAISS(A) : SorS) DO TCHS; BETOMBE SIFHSIG0 (HHOB0S &8 1D
SSURTEAT )

eimd R) : Sr@roberiod S 66 R0 Sy TR At Bers IS0
Darod feoiod.

DOTDA ASTEREO

(1) (A) S8k (R) BOGr 2y SR (R) RO (A) H S0P Db 5.

(2)  (A) OV 2 DO (R) 0T &y,
(3)  (A) 3O Sy A (R) @O 2y
(4) (A) DO (R) DOty 2.5y <0000 (R) &R (A) %o SO A0,

P11
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Examine the following statements :

A. Dr. VKRV, Rao was the first person to estimate national income in India before
independence. - -

B. Soon after independence, the central government appointed the ‘National Income
Committee’ to estimate national income in India.

C. Dr. V.K.R.V. Rao was appointed as the chairman of the committee.

208 wored H89D0G0d ;
A, ArssoERd oo rssBiod Adirordird)) eodar WS Docked 58
o V.KRY. o).

B, ;gsoldo D)0 Soad réafiod’ mradiroraird) wodd Jarws
arded D 50 ‘Fradirarah £l D dabodod.

C. e 52088 36,3 g VKRV, oo dobodagreh.

Choose the correct answer : / 8EDS a0 Jobl Babod

(1) A & Conly . (2) Bonly
(3) Conly (4) A & B only
Examine the following statememnts :

A.  Anil Sant is the Registrar General & Census Commissioner, India.
B. The ‘demographic dividend' term was first coined-by David Bloom.

Choose the correct answer :

(1) Both A and B are incorrect. (2), “Only A is correct,

(3) Only B is correct. (4) NBoth A and B are correct.
208 wored H870oted

A, 2pSSTEY B E 2558 & TS5 SRS oRd dod

B. ‘Z3anrdiAdT0S @ BorR)/arad) Mnddr HErtodod d8 .
OIS BT JoDE Fosed:

(1) A 5009 B Dodr HOFAD 5. (2) A Sy H0Tdd.

(3) B Sretsh HOT]d: 4) A 000 B Bodr SOTASD,
Indicators of economic development include :

A. Real Gross"Domestic Product B. Real Per Capita Income

C. Population Explosion D. Human Development Index

E. Mote dependence on labour intensive techniques
oSS udsDLY0 SrDiS' ad & AN 7
AN TANE Jro BITrs 8 B. D &oiHs eordbo

C. a7r ddedo D. &rdd ediyg Hrd

E. |4 arode HgdhoR sLSom srdando

Choose the correct answer : / D8 220D JoDE Tabhod :
(1) C&Eonly (2) C,D&E only
(3) A,B,C&Donly (4) A,B&D only
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116. Examine the following pairs :

Index Developed by
A.  Physical Quality of Life Index -~ Morris David Morris
B.  Gender Inequality Index - UN Human Rights Council
C.  Human Development Index ~  World Health Organisation
D.  Multi-dimensional Poverty Index — Oxford Poverty & Human
Development Initiative and UN
Development Programme
800 sded H8I0ot0s: .
Ard/drdE = 0 D80 IS 8o
A, Al A58 1Hdre Ard) - [roh 4D Dron
B. Dol edadrdesdrds. - DS SrdS e FR)yS/osd
(UNHRC) \.
C.  Srdd @ds)@ SrdE - (Do ey $0H(WHO)
D. 2doardys w808 ards - e5f Eo%y B SrdS eDISHE
WOSOMe/L36S (OPHDI) Sdch
D8, 55 |8 o (UNDP).
Choose the correct pairs/answer : / O30S 2eb8/28720:5 008 Tchod :
() A&Bonly ' (2)/" B & C only
(3) A,C&Donly (4) A&Donly

117. Examine the following statements about demonetisation in India :
A. 7300 and T 1,000 notes were demonetised by the Government of India in 2016.

B. The Central Govemnient announced the demonetisation move on the evening of November 18,
2016.

C. Declaring ¢he\currency notes as not legal tender indicates the demonetisation of those
currency hotes.

rOSTHOS S8 5K SE5D 808 BoTeD H04D0S0A ;
A GrSS |HZ0e 50 2016 &' & 500 SO &, 1,000 SHickd & H0oA.
B. o 18, 2016 =& Araho|do S 8 APArR) Tolds 112be 10 1HEB0D0A.

C. 5B0) SR PP S 30 1HEB0DIph & D) Sk 8% wonseym

raord,
Choose the correct answer : / OTDS 372008 Jod¥ Fahod :
(1) A &Conly (2) B & Conly

(3) AB&C (4) A &Bonly

——— —_ - — — -
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118. T-Hub is India’s largest incubator for start-ups and a unique public-private partnership between :

119.

120,

A. Government of Telangana B. Govermnment of India
C. IIT-Hyderabad D. NALSAR

E. Indian School of Business (ISB)

W00 )% rEsSTHoS' T 08 P 2o5RLS wond ‘B-55 08 TUS 348 NVaTS
BETS HDE- S 2Kt Soom 4o 7

A, Soors HZbheso B. 2rdes |520est0

C. o008 oo D. &S

E. 20800 ard ah A0 @0l

Choose the correct answer : / H8TDHS Barzned oY TaHod :

(1) A,B&Eonly (2) B,D&Eonly

(3) A,B,C&D only 4) A,C,D&E only

Examine the following statements about the resolutions of the meeting of (the fMonetary Folicy
Committee’ of RBI held during June 4-6, 2018 :

A.  The repo rate was increased by 25 basis points to 6.25%,

B.  The reverse repo rate was increased to 6,25%,

C.  The bank rate was fixed at 6.50%.

Bzt ergoso Gl 1888 e Eued dlrPdo anS 456, 2018 oo’ 20R0A. S
DSrRED SO O H020H0D 00 BOTLH HEPOODA :

A, D Dl 25 DD ronoty Dothdr 6,25 méor Dfonotrd.
B. 3835)08 Béndd 6.25% rerds Do, - -
C. zrjo¥ Bewndd 6.50% rr AFavortsh

Choose the correct answer : / QOG0 23ar200 DobE Fabhod :

(1) Conly 72) A &Conly
3) AB&C | (4) A &B only
Match the following : | .
Scheme/Yojana Launched on
A.  Pradhan Mantri Mudra Yojana i 9% May, 2015
B. Pradhan Mantri.Jad Dhan Yojana i 12" April, 2005
C. National RurdlHgalth Mission iii 28" August, 2014

D. Pradhan Mantri Suraksha Bima Yojana iv 8" April, 2015
L0d D) eGS0 H

SHEO/Tres sSofio/aor &N
A, D Sols A TS i 09,2015
B. o NTS 0|8 1S 563 Sz i DS 12, 2005
G\ 28D [rioe ety AS ili ey 28, 2014
D. 155 Do ol Dar Tred v D8, 2015

Choose the correct pairs / answer : / 0TS 2805:5/83,2050 J00E Tchod -
A B- C D

() i 1 I \
@ i W iy i
(B v Mo i

9 i v d i
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Besides Sachin Tendulkar, who are the other Indian cricketers who played more than 500
international matches (test matches, one day and T20 internationals) ?

A.  Sourav Ganguly B. Rahul Dravid C.  Anil Kumble
D. M.S. Dhoni E.  Virender Sehwag

Choose the correct answer :

(1) B&Donly (2) A,C&Eonly

(3) A, C&Donly (4) A, B&Donly

NAS WoMw 58" e, 500 ®osFTAD Irped’ (B Srichen, 28 S O
T20 &3 geioen) S RS 2rdaad 1§80 IS8 7

A, S Korrd B. onod |10 C w8 Hoed

D. MS. &2 E. JBos8 sl |

QOIS Barawsd JobE Fahod : :

(1) B OGN D Sm&dh (2) A, CHOCHE SresdD

(3  ACHOCHDIMSDH - (4) A, BSOS D IMED

122. In February 2018, US Government a . i i

Houely e commectstemams g e spperval s 2T heopeias o Inda

(A) Tutﬂtlﬁmnt:dcuﬂtiniﬂmmlﬁnnmdthepﬂmamfmthesuppﬂn sale include
Lockheed Martin, Longbow, Boeing etc. ;.

- (B) Ttalso includes simulators, communication equipment and has night fighting feature,

(C) TI:u=mﬁmntudm:ti:iiﬂﬂnﬁllinnmdmmmmmmhgusmwuumdmﬂ
Aerospatiate.

(D) - Tt will strengthen India's ability to defend its homeland and deter regional threats.

Choose the correct answer : o

(1) (A), (B), (D) only . (2) (C), (D) only

(3) (B),(C), [D:S‘mlr (4) (A),(B)only

D2SG 2018 Us/ 18 AH-64E Apache )

JFcuotiornd eddotod - Mﬁﬂ:ﬁaﬂ Ianmuggﬂﬁ ﬂigﬂru‘fsﬁiiﬁﬂﬁg::g 'Eh!

20 ]r Et::um :

(A) € 25000 TE; Awdo oS Saho $930 dhS
©ITRESGTS S o|ErEE) : erEing Mﬂnm Sonolf éﬂ%&iﬁ?ﬁm Do

B) =0 rfiom DIV, SXrOEAS H0Scen Yoeron. HACH 2D NS
JLod of e §OA Jodrown. | |

(C) gl n::.::m m awé; SO fﬁ;cﬁ:-a H:; DOHTY Hdckn ADS

50 :

o mmﬁh}i 80 T ager (Agustawestland) 08ci0

D) & 25)0650 &3 Sréy AP TV WEIErVE S8ck oSS BEBOYOG

. PS8 AT D AT, OSSO,

MDA RArTR)JonE Schod

(1) (A), (B) SH8% (D) S 2) (C), (D) SM&éD

3) (B), (C) BN (D) SresTh 4) (A), (B) SmeH

P11 o
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Who are the nchmttnpmruhmmnm:slnthnwmlduqumbﬁ 2018 list released in March
20187

(A) Bill Gates (B) Warren Buffett (C) Mark Zuckerberg

(D) Jeff Bezos (E) Mukesh Ambani

S8 20185 RSB §5)) 2018 2rDErS’ 1HH0B0S'N B0 H350HBS SwHdd
DHOHAD DS 7

(A) DSAS (B) oD &) ©) &Sl ars b

(D) 20T2D (B) Sofh eowrd

Choose the correct answer : / 8 aaransd Jonf Dahod :

(1) (A),(B)&(C) (2) (B)(C) & (D)

(3) (B),(A)&(E) (4) (D), (A) & (B)

In June 2018, Smt. Nirmala Sitharaman inaugurated 16 MW solar PV power plantat'the Heavy

Vehicle Factory in Chennai. Identify the correct statements on the subject from the following :

(A) The plant was established by Bharat Electronics Ltd, Avadi, Chennai.

(B) It costs T 105 crores.

(C) It will provide green energy and promote Green India initiative. (

(D) It also helps in reduction of sulphur dioxide and improve air guality.

Choose the correct answer

(1) iﬁt} (B), (Cl (D) (2) (A), (C), (@) only

(3) 6') @) (A), (C)enly

2m% 2018 E;E-.:E Der hEroS rh IrEd) Dgl‘:ﬁé IS 16 Do Ferd DD

538 Fotndy 1rdoDodod. HRE HowodHodE @&5 DSdo hiodod :

(A) & ot erdes JoFTRE) OHLS, vl TE S mm

(B) & otn ‘::-tﬁmd &, 105

© & Foan AS 2840 ﬁé}ﬂﬁ;ﬂ Byod Hochy (AS asadhds Fos
L#éamaﬁ

O 26 5055 3 B85 SloSgsd’ HHE800 araing Fendrd) $HN08.

50T 2aand JobE Dabed:

(1)  (A), (B), (C), (D) (2) (A),(C), (D) Sresd

(3) (B), (D) Jr&d | 4)  (A), (C) SrehSh

A famous person, Davilh Douglas Duncan was passed away in June 2018 in France. Which
profession does he belofig'to and what was his role ?

(A) PhotographyyHe changed the role of war photography.

(B) He projectad the suffering of soldiers in Korea & Vietnam,

(C) He belonged to the era of World War I1.

(D) Heldied in August, 2018.

o] ama & 13rS) S U8 Bfoh $05S o 1HErid SN AV, SSD D
3888 ol rch SO ead Ting) arig S 7

B ol (rirso (FEID), wss :ﬁmgag H02OHODS ErohH Do T

B ETedgesesy Sromyd.
(B) & THADr Hdckn doherHe ' ‘ﬂﬂﬁ:t::- eredd G800 Tard.

() @ 25 Do dnge T,

D) @D eiiay 2018 ' SRS,

Choose the correct answer : / SOTS 220 oS Wabod
(1) (A).(B)only (2)  (A), (C), (D) only
(3) (A, (B),(C), (D) (4) . (A), (B), (C) only

i1

[§] . wB
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126. 2018 Padma Vibushan recepients from among the following are :
(A) Gulam Mustafa Khan (B) A.Revati (C) Sri Krishna
(D) P.Parameswaran (E) Justice 5.M. Sikri (F) Illaiyaraja
(G) Fatima Sultana
806 0S5 2018 HE) DETRS (Hirebe 5% 7 - -
(A) Hhero S oS (B) A.Bs58 © 2189
(D) P. 3804 36505 (E) a0 SM. D8 F) adcbor
(G) Frddr oo '
Choose the correct answer : / QOGN Bar20Ad) ol Tabod
(1) B,D&F only (2) A,B,C,E & F only
(3) A,D&Fonly (4) A,C,E& Gonly

127. On 14" June 2018 who became the first' ever Indian batsman to score a centfryNinl the first

session of the test matches and joined ranks of whom 7

(1) Shikhar Dhawan - joined Sir Don Bradman, Victor Trumper, Charles\Madcartney, Majid
Khan and David Warner -

(2) K.L.Rahul - joined Sir Don Bradman, Viv Richards and Sunil Gavaskir .

(3) Murali Vijay - joined Clive Lyod, Gundappa Vishwanath and Sir Don Bradman

(4)  Virat Kohli - joined Sir Don Bradman, Victor Trumper, Majid Khan and David Warner,

27 14, 2018 T BY IrHprhe Fddd PASST DoSSersond DudSncdes rds

2§50 bl 7 ROSE S0k & Déorr 8 T P wosTach 15865 eridS 1S

D Jo 1 o D087

() 28 IS Tad. adD FOS =der : WS (2858, DY 1036, b))
N5 (Charles Macartney), 32885 g X 8ak0 NS 53 5.

(@ 528 oind TRrd. a8 WO hDer : NEES 2808, DS 6:38) SH6akhy

20N By 5. .

(3)  SEP dadh T, 2 oK FDer : 35 erah, HodD) DD OGN
A @S 1286, R

(4) Do) Far T, e DEDS 127808, DE5 2008, Sr2S v o 08
585 arderd” Tovd.

128. Examine the following staterfients about the "National Commission for Protection of Child Rights'

(NCPCR) of India : .

A, Ewn;ﬂ 5:; up in March 2017 under the 'Commissions for Protection of Child Rights (CPCR)
ct, "

B. Itisaconstifutional body.

C. The chaifman of the commission is Stuti Narain Kacker.

D. The childis defined as a person in the age group of 0-18 years, " .

ESTHY ‘oo e Sim FHo racd ¥AS (NCPCR) H0d 206 ddned

H0800%0A: )

A ;ﬂ;:ﬁ:z,m S5 FH0 ENA B40, 2015’ egrSomr &r8) 2017 &' H2D Domyén
. |

B. ad ¥ oergof Ho, '

C. & 500585 slel roraed 5.0 365 arraey . _

D. 0008 18 003 ore SHARMA)ES e S5Eerd areren (DLen)r A DotaA08:

Choose the correct answer : / O S 200 JODE Dabod :
(1) C&Donly " (2) A,B&Donly
(3) B, C&Donly (4) A&Bonly

P-"- | wwilv.@ducation.com R | 41"5
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129. Which of the following statements are correct 7 ° |

(A) Anjolie Ela Menon was awarded "Kalidas Samman’ for Visual Arts by Madhya Pradesh.

(B) The Council of Scientific and Industrial Research (CSIR) was awarded National
Intellectual Property (IP) Award 2018. .

(C) Best actress award in 65th National Film Fare 2018 was awarded to Deepika Padukone.

(D) Navjot Kaur becomes first Indian woman to win gold at Asian Karate Championship.

80 ad8S vored’ HPSD D ? -

(A) SSIHBT 152010 wo'D qer WSS H DardSS @afHH HooHodS TITR
2 @G pvritodol.

(B) FS H6 DOBHE Hoain Rod|HaAHd B (CSIR) Hop MadS 204858
58 2018 v rodod.

© 653 Ba5S DS D8 v HS add S8 e Ads HHTH Soled.

D) @&l b TodahSADS 2ord S0 HodS TfRndd Hirem

Sa8%E T8 DDD0L.
Choose the correct answet : / O BT 20 LODE WAhOH
(1) (B)&(C)only (2) (©&D)only
(3) (A) & (D)only (4) (A) & (B)enly

130. Examine the following statements regarding New Development’Bank (NDB) :
(A) China holds the maximum number of shares in the bank.
(B) The bank has no African nation as a member.
(C) The headquarter of the bank is located at Shanghai.
&g BIODH0S 274055 H02080D0 06 VISHOM (@oTeD) H08DoB0 !
(A) zrgods’ Bar B0 KR Dopsdhareren OA &od.
B) B8O POFRS HooHoNS B0 arjoHhHd’ HEhioren s,
(C) 2rios T Lo Soiowrons aod.
Choose the correct answer : / O3NS 2357200 dob¥ Bahod :
(1) (C)only | (2) (B)& (C)only
(3) (A)&(C)only (4) (A)only

131. Examine the following statements :
(A) Norway tops in the Global Democracy Index 2017.
(B) Sri Lankabanned import of non-airbag equipped vehicles from July 1, 2018.
(C) India built the world's largest thermal solar plant.
(D) China sets 2018 GDP target at around 8.5%.
208 DISOS (@oTerd) HOIDoWoS : |
(A} ©0STHAD (HRrN0g ArOE 2017 (DS GSw B DD oS wod.
B) =B -5%2:"5 508 008 Jonbd zrgfien VY FTTODH OHHHE THTSarD)
(T &.
© Hdotsods 8D P65 Farb rotnd erialifo D000,
D) ~ 2018 HOSS 505’ B 8.5% 2.4.9.0 AHoTrod SOBTT IV0d.
Choose the correct answer : / HOTA 20 oS TDabod :
(1) (B)&(C)only (2) (C) & (D)only
(3) (A) & (D) only (4) (A) & (B) only

—- - ——— ——— - ———
e e i
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132. Renowned social activist and founder of Sulabh International, Dr. Bindeshwar Pathak was

honoured in June 2018 with an award. Identify relevant statements from the following :
(A) He was awarded 23™ Nikkei Asia Prize of Japan.

(B) The ceremony was held in India.

(C) The ceremony was held in Tokyo.

(D) He was awarded 22™ Nikkei Asia Prize of Japan.

HEreS AIrAE DESIEO (soclal activist) SO OB BOLEIASS ok,
SITHErHBS o DoBE B >G5 2~S 2018 &' mﬁ oIPE ST, Rod
R0DOHONN NOTDN NAPGTH0 Benod

(A) 23 3 %D (Nikkei) ehdir |2 D 2578 & bgdoordh.
(B) & 585800 aoddirs 8 irotadod.

€ &esdgsdo &S 20n00.

D) 223 0%dD esdair el e 31S H D EdoTTw.
Choose the correct answer : / HATS 23720 D HODE TaHod

(1) (C), (D) only (2) (A)(C)onlg

(3) (B), (D)only @) (A), BYolly

Examine the following statements on 'Smart Cities Mission’ of India :
A.  The mission was launched on August 15 2015.

B. The mission aims at strengthenipg urban infrastructure and give a decent quality of life to
citizens.

C.  Shillong, the capital city of Meghalaya has been selected as 100” Smart City of India in the
third week of June 2018, |

D. The total proposed investment in the selected 100 cities under the ‘Smart Cities Mission’
would be T 2,05,018/crore.

rSSEED A0 HHDDAS K800 806 DI3Sme S HBID0B0A ;
A, S10380\15 S esfey 2015 b |rSoDodh.

B. Siu W08 (esyda) dmdared H8Fo0 Ichdo HOG DEHeL
ARl A5 $D 00580 & oAS Bk, alido.

C. 2018 2% To Hrdss oo roaddisy 100 & 0 2m ‘ﬂba‘.nrr:.-di} oA
S0 Dol JohE JFahadod.

D. ‘0 H8% AS S0 JodE Tahads 100 o Jwdo & 2,05,018 ¥&

2EP2AD |DHadrdHorh.
‘Choose the correct answer : / SO 2872050 Hon§ TWabhod :
(1) B,C&Donly (2) A,B&Donly
(3) C&Donly 4 A,B&Conly

P11

] - 43-B

www.sakshieducation.com




1M,

136.

www.sakshieducation.com

Which of the following jurisdictions are enjoyed by the Supreme Court of India 7
(A) Original Jurisdictions (B)  Advisory Jurisdictions  (C) Appellate Jurisdictions
Choose the correct answer :

(1) (A)and (B) only (2) (B)and (C) only

(3) (A)and (C) only (4) (A),(B)and (C)

808 8id H8A0S' rddEH HHo FHH 2 wHTTe) Ao ?

(A) R (d) irde wdss D06

(B) AoddB)edsd 506

(©) el srde efHss 06

RDA B Jons Babod

(1) (A) 0Odin (B) ez (2) (B) 8diw (C) Aretah

(3) (A) 2B (C) Sr&D (4) (A), (B) 8as (C)

Consider the following statements :

(A) China inducted its largest indigenously-built transport aircraft named ‘ag Y-20).

(B) Pakistan successfully tested its laser guided missile named Barg.

Choose the correct answer.:

(1) Only (B) is correct. (2) Both (A) énd (B)are correct.

(3) Both (A) and (B) are incorrect. (4) Only (A)ds correct.

08 Do (woresd) H0Mdotod :

(A) D THo ediod DY 5187 Saird JonBIsDEY-20 D D& 1 HErRoD0A.
(B) >BPS dachdoson HO8 008 Bl BT WRSE 28 & D od.
DD BeTen oDE Wabhod : '

(1) (B) Sredsdh HOTHAS. A2) S(A) SO (B) Bodr b,

(3) (A)SHOCH (B) Dot HOPSITD, @) (A) Sr@zdh HOPSA.

In June 2018 Kerala initiated ‘WaterLiteracy' campaign to create awareness about the importance

of water conservation in the state, What are the correct statements from the following 7

(A) 70,000 students are invalved. -

(B) Every student will caripaigh for 15 families.

(C) Approximately 10 lakh people will be benefited knowing the importance of water,
prevention of watér pollution.

(D) It is mandatary-in Kerala.

Choose the cormect anSwer : |

(1)  (A), (@),[(D) only (2) (B), (D) only

(3) (A)X@B) (), D (4) (A), (B), (C) only

27 20185 ‘Ded8 HooHoDS L oNd’ HToR) 1DaedS A8 ok (Ardumpgs,

AAT O™ FHL ©L DACFOD BIMTS Dodrodosardl T8¢ 1H2hé o

LSS S0n. ADE Ho20H00 808 oS’ HOTDMS DATFTR) BenHod :

(A) 70,000 08 doriPen 2ohd G Ty 8.

(B) (D8 DR 15 NS BSMETSDH SONT,

(€) RArd 10 oo H0d 1Paew odiroderd. A oo A s (rdups,
AE8 SRl ATH0LH AGH0 BennTSch). ,

(D) E5¢ o oS AN &53008 T,

RO B JoDE Tdbod :

(1) (A),(C), (D) Sredd - (2) (B), (D) SMSD

(3) (A, (B), (C), (D) (4) (A), (B), (C) &rih3dh

Pll
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137. Which country will host the first military exercise of the BIMSTEC group focussing on counter

138.

139.

terrorism 7 When is it scheduled & what is the purpose 7

(1) Bangladesh; September 2018 in Beijing; To promote peace

(2) India; June 2018 in Pune; To counter terrorism is the focus

(3) Pakistan; in Aug. 2018 in Peshawar; To promote harmony

(4) India; September 2018 in Pune; To promote strategic alignment among member states

5 H¥0 BIMSTEC D.0.05.00.8.2.5 2yodok addio aNod. BIMSTEC 29050 &3

TAINGE DIE DTED0. A AHTGON |HBM Fabadh IR0, I & DTYN0

DB Erotdntidod ? HD Sop; AFIo W ?

(1) 20TEFs o2tk 2018 & HAchS' adhibeévod; 7oad ORFOBOLE
ﬁﬁ%mﬁmduﬁ |

@)  BoASKTS: oFab 2018 S RS aliTchos HBT FHoSLAo:

@) >SS 0¥ 2018 & DAIES" DS DoFodohHeH aFlaBndod.

@) =oAcihrs’ TRond 20188 RS 286088 AHTTONDG) Fiartds
DYSH0& Dofrodothb%h aflodadod.

Which of the following statement/s is/are not correct ?

(A) India celebrates its “Mational Sports Day' every year on 290 Kugust.
(B) Dhyan Chand was the only hockey player who got Padma’Bhushan.
(C) Arjuna Award is given for the best archers.

(D) Dronacharya Award is given for brilliance in sparts coaching.

808 D38p0S (©oToSHHOTIO/D IO/N

(A) 2rSSEH0 398 HoS 00 29 asfioped erach Sor &S'S ysom mmmmﬁ
B) SS0& HEITAS FodI AT Sorsdoh.

€ P @D drdhd DeRFFoPS AN,

D) |Teord; oD asss Sl o avd.

Choose the correct answer % D FRSFrFTTR) Qo8 TWahod :

(1) (B) & (C)only (2) (C)only

(3) . ©&[Donly . ( (4) (A) & (B) only

Who has written the book “Conflicts of Interest: My journey through India’s Green Movement”
and who published it ?

(1) SalimAli, published by Pearson

(2) (Tindsi Gowda, published by McGraw Hill

(3) \, "Ramesh Agarwal, published by Printice Hall

(4) ~ Sunitha Narain, published by Penguin

Tl 6D F0(BR: D 28) 1€ 20AATR (AS SrSTodl' D @oli YT JSE
E000rd 7 Sbdin 2 1Dchdotrdh ?

(1) SSowd HO% ad), |Hchde L8 HAHBIHS.

(2) Sooné dmh Y, Dt §6 Doyrards.

(3) 5300 elor s SOHOSM, (DoMD IS |Hhdodod.
@) oo Frdond o, Do Hcbhbodob.
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Examine the following statements about Gobar Dhan Yojana :

(A) The scheme was launched on April 30, 2018 in Kamal, Haryana.

(B) The scheme aims to positively impact village cleanliness and generate wealth and energy
from cattle and organic waste.

(C) It also aims at creating new rural livelihood opportunities.

Aol ol Srasm $0d vorosh H090odod : .

(A) oS’ S0 SS DS 30, 2018 T & He¥o |Prdodotdod.

(B) |mine HOHBSD |HarSS Srddodarenm; Hhyen H8dAH Dodad Sigre
508 HoDBL, T0tS0 #H adye Tohdo & HPEo afor EPHod.

(©) i ASS' DAL Ared STTOL Dot of 08 & HPEo HATNoE.

Choose the correct answer /38 237200 oo TWabod :

(1) (A) & (B) only (2) (B) & (C) only

(3) (A) & (C)only (4 (A (B) & (C)

In May 2018, RBI put Dena Bank under ‘Prompt Corrective Action’ (PCA) which focuses on the
following aspects :

(A) Cannot sanction fresh loans

(B) Barred from recruiting more staff

(C) Cannot disburse loans already sanctioned |

(D) Dena Bank is first lender 1o face curbs under PCA

D Be 20185 B erg05 (Dena Bank) & 8285T 2o (Bro 5DES AirdS (.R.)

Heh 28 Dard By HOAS' oD0d. & s Lodndired’ BAD Sy Rddod ?
(A) T 20000 HOB™E TADOED. N\,

(B) Fém afiiyed 208Tcdhdo dsisotadod.

€ 20388 2020 Hoa~Hh sondIisndod anered Hobd D) Fahodh.
(D) DS Darde BOg (aroy NES cirs S) Sod B 2 50f DS aneacrem vod.
Choose the correct answer : / SOTDS B 20 JobE Tahod :

(1) (A, (C), (D) only (2) (A), (B) only

(3) (B),(C), (D) only ' (4) (A), (B), (C) only

Indian Government lainched ‘Gram Swaraj Abhiyan — Special Interventions’ an outreach

programme. Identify’the correct statements from the following :

(A) The outreach prelgramme is to deliver welfare schemes to select villages.

(B) The objective’is to see that social harmony reaches to the poor.

(C) Doubling the income of farmers.

(D) Itis applicable to every village and it should be implemented immediately.

PSS RIZNS 10 “Imed D507 eDdirS-)nS 2oLANS)” 0 af 0HBES S rod

ErE0DH0N06. HAE Ho2oHod) L0 S’ HOPS dSrerdod Hlotod

(A) & 03565 S roen (EiEersom) AFFoIAS (Mére [@Fdbin ) aFiod
B0y HéH¥oerd esSenddcing,

B) Addog; $Fio ardrad AT meosd ek Ty,

(€) Beéve mcrdbo O shedEyso Sawe.

(D) 28|38 MIrd8 afiodadod HBW HAN I sdor wdhen Taird.

Choose the correct answer : / OGS DAFPTarR) Wond Dahod :

(1) (B), (D) only ' (2) (A), (B), (C) only

(3) (A) (B), (C), (D) (4) (A), (C), (D) only

P11
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143. Examine the following statements :

144,

148,

(A) Roger Federer, tennis player, reached the men's world number one ATP ranking in tennis
after winning his 98" career singles title in May 2018.

(B) He defeated Rafael Nadal in the Stuttgart open final held in May 2018.

(C) 36 years old (As on May 2018) Federer born at Basel, Switzerland,

208 D3SRON (BoFred) H87Dot0d :

A) LD dasdd Hab DAESE S5 98 S 385 BoAS) RBSH H 2018 &
Aenchfod, LAY HE' HHHe (HHo Soad 1 ATP orgolofichd Ardomrd,

B) D 2018 S u88S JHT DS DIB ArpSS' 508 Sardh DEG0 Ldotrh.

€ 36 HoISyore (3D, 2018 738 ASE LT OSSN erddS' ad0ord.

Choose the correct answer | / 0TS 220 JonE SAbOS :

(1) - (B) & (C) only (2) (A) & (C)only

(3 (A),B) &) (4)  (A) & (B) only

Examine the following statements :

A. Gujarat Forensic Sciences University (GFSU), Gandhinagar is the first\Indian university
dedicated to forensic and allied sciences.

It was established under public-private partnership.

J.M.Vyas is the Director General of the University. )

The University was established through an Act passed by thetGujatat Legislative Assembly,
dated 30® September 2008, ~ .
However, it became functional from July 2010.

08 DIGROD (WoTeD) H0¥Dotod
POVNE D00 ©HB0E PROH ©SEDIHAS I rdacd
DELDCIOGH HBoS HBIE RIS BhINS0 )¢S, modSHd’.
B. (3408 R3S orirsgod’ & D 300 fvdho Praodadod.
C. IM. g & ¥ dorsecirn8 BoES 2S08m aar) .
D. 30028 30,2008 & haos 1 2T 4 0 oo o som & chrlsd y40 Frhowd.
E  eond 208 2010 Hod Sghms0 )¢ Hdd3cbdo @rdododod.
Choose the Incorrect statements”” LIOBR IS0 SHODE Tchod :
(1) A,C&Donly (2) B &Eonly
(3) AB.C,D&E (4) A,B,C &E only

Dow

m

;p-ﬂl

Examine the followingStatements : '

(A) Total number of gold medals won by India in the 2018 Commonwealth Games is 26.

(B) Polish author Olga Tokarczuk awarded ‘Man Booker International Prize 2018,

(Cy Total numbeér of medals won by India in 2018 Commonwealth Games is 64,

(D) Pellichupilu won the best Telugu film award under regional category in the 65" National
Film\ Awards.

208 8070 HOOoN0S |

(A \2018 25335 808’ ersaTiio Ando 26 Dot Hésed Tenhfod. _

B) &B08 Sdonsd o Ler S'EHIEH SrSwEd wosTadh eI 2018

- sodddbadod. - -

© 2018 590358 568" rd8Tio Bnso 64 HeTOD RenhHTod.

D) 65 % Basd 56 o) ([Drosah Jaridods’ o) dren' DSo addH
Do @ ReochTFod. .

Choose the correct answer : / D 272060 Q0DE TIAHOA :

(1) (B)&(C)only - (2) (C) & (D)only

(3) _(A)&Donly (4)_(A)&(B) only

Pi1
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Note ; In questions 146 to 149, a sequence of numbers or of letters of English alphabet or of both
following a particular pattern are given with a blank. You have to pick up the correct choice from
the four options to fill the blank without disturbing the pattern.

DS ¢ 146 0D 149 J85 o 1D 08 Hopiw edHEDom), Bor wolf widare
&'0 wEoe BeHED0 TR B & Bolods 5rdd edhomd uE D3 HPD

00 )5S 1ESrR8 Zoko Bloar .8 oY) HodE TWaird,

2 .6 1
146. 200, 15@,14@. ,1119
(1) 125 (2)
@ 1122 : @
147. MGIX, LFHW, KEGV, __ ICET
(1) IDUF 4 2)
(3) JUDF . ] (4)
148. V25LWI16G, X9E, __ a1l A
' (1) Y4C ‘ :{2:_]
(3) U4C (4)
- -]
149, 7, 13,3?,51,___,,12':
(H 111 (2)
3) 91 | (@)
150. Thﬁmi!singiﬁnninﬂ:afﬂ]lﬂm&ngpimia:

&1 1808 285m0’ S'DoDS DS :

115

135

JDFU

W4 C
Y3C

101
121

&l 62 &)

(1) 120 (2)

(3) 250 4) 60

1

240

SHHOOD AT ow. 80HS 2.8 5T 208, 8 YR JFrooitrds §od 2)S END

www.saksmtion.com
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Given that 25 April, 2012 was a Wednesday. Now, match the days of the week given in List -
IT 1o the dates of that year given in List -1 :

List =1 List = IT
i)  29% June (a) Sunday
(i) 15" January (b) Monday
(iii) 11™ December (¢) Tuesday
(iv) 25% October (d) Wednesday
(¢) Thursday
(f)  Friday

(g) Saturday
2012 & 30383806 JhohHdS 255 BS SIS0 8D . AH D, @ ﬁﬂ@ﬁ'
e - 16 20)S BboS 308 Food D -1 & 2éFabhod. | O

aDer -1 e -1 O
(i) &~529 (a) b0, .
(i) 23558 15 (b) Do Q
(1) Ao 11 (c) Svonigado ¢ O
(iv) @S2 25 (d) ad>rdo 0
(e) (hardo ‘0’
fH . HE>Go

The correct matching is : / OGS &G :

® 32300 60

(i) (i) (i) {w}
(1) a ¢
(2)
(3)

(4)

. \(\

- ,

e b %
mnmﬂbﬂweanﬂ!@ﬂﬂsuchlhatmﬂhnmhﬂnﬂmdtbemumhﬂndnfnnhnkm
p-erpeudmulwm other is

o o 0 o

o8 60 00 0B 730 S Aare Swew, Hode Jnen 2ErdEEes
So2O Sileihle)

(1) 1 (2) mﬁ

(3) 7::1% | {4) 7:1%1

The next term in the series - 3, 6, 18, 90, 630,

%63 3, 6, 18, 90, 630, S dord HS3n
(1} 5670 (2) 6670

(3) 5970 | 4 6930
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Note : In questions 154 to 157, you find a question (Q) followed by two statements (5, and 5,]_
You have to determine whether 8, and 8, can answer Q. Mark your choice as

(1) if §; alone is sufficient to answer Q.

(2) if Sz alone is sufficient to answer Q.

(3) it S, and S, together only can answer Q but neither S, nor S, alone can answer Q.

(4) if S, and 3, together also cannot answer Q and additional information is needed to answery{
BrSaS @ | DFen 154 Hod 157 &8 Db 2.8 (24 (Q) &R Joy Do (Ddcdaren (S,
S0ai §,) tirddh). & §;, 5, © LoD Q § JArerdo T Sc)FIr &m

AFBoTd. Q& DIFH0 BS Er08
() 5, 250 H0E Dz (1) ©. _ O

(2) 8,255 H00E o s (2) 8.,
(3) S, S, o0 Bodr §OD HOMEr, ES' O .58 Srmessh Lo B (3) @
4) 8.5, © Doth $ODT, 6 Todd ©ESYH DATTES &, 2o Baraw (4)

@ hood, i , O
(0 : For integers'*a’ anﬂ‘ﬁ'i#a+banw¢nmtcgu" 0

5:’: aiseven.

S5,:bi isa nmluple: of 6. @
- ?

Q: e ‘a’, ‘b’ @Bva+ bl S8 Trol
5, 1230 Loy,

§,:b XA 6 Q) hduo. b
Q : What is the avﬁragm}fal.&z 3'3'54

Sy 78y, 85 8y, 8, and a5 are con

S, :ag =100, @

Q:ay, 8,8y 4, 8, TR0 @
Sy 18y, 8y 83,8 85 €0 Sl
S, : a5 = 100. @

%) = (v q‘,;%%]

y %) =(x & v %)

Q : How much money is there in the bag which solely contains 50 ps, 1 rupee coins ?
S, : Total number of coins is 521,

S, : Twice the number of 50 ps coins exceeds that of 1 rupee coins by 127.

Q: 50 e, .5 draraw THoMD SrSDH DS o8 HoDST &S0 ?
5, : G0 TR Doy 521.

5: 50 E-E.'JF._'I e Doghigs Blod, draran rie & rac:m; E.ﬁl 127 Qﬁa};‘.-

P11
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Note : Study the following table which gives the production of two types of vehicles by an
automobile company in five years. Use this to answer the questions numbered 158 to 161.
Ardd @ 28 eSS 0 @d 8 T Dot I5e TP JopsD, D
DOSS YT OH JoOHOND VAT BOD 1808 HGED eHiohdo Tavod. &)
AOTHOD 158 oW 161 HEEL He (HF) o8 Barandany.

Year/Rod& 00

| |
2012|2013 | 2014 | 2015 | 2016

|
TypeA 1169 126 iﬂ.ﬁ 148 [16.1 |
L. TypeB 254|188 |11.2 | 162 | 184
By what percent the vehicles of type B produced are more than the vehicles of fypeA in 2014 ?

2014 &' &8 )8 wand B 8%0 Trare Sopg olf José 808" e eond A S%o
T OS50 DO T A0 IS T

1 152 2) 165 3) 17 ¢y 142

The ratio of number vehicles of type A produced to that of type B in all the five years is

0830 D056 )10 Bréh 18 AN A TR HOPET, B S50 IO Ho S o AN S
(1) 2:3 (2) 7:9 3 9:7 4 3:2

The percentage decrease in the production of type A velticles in the year 2014 to that in 2013 is
2014 & HOSSG0S' &é)E SONS A G50 TS dows 2013 &' #S)8 o
B850 e dopsd dwd o

(1) 215 (2) 19% ) ™1 . at
The total number’of vehicles ced by the'company in the year 2015 is

2015 & DS80S SO dres )8 é#.:ﬁ Ao FFTe Homy

(1) 20,800 (2) 31,400 (3) 35,500 (4) 31,000

On 8® February 2018, it was a'Thursday, Then, what was the day on 8% February 2017 ?

(1) Wednesday (2) /Thursday (3) Friday (4) Tuesday

8 (230 2018 & HIXDIE5 QNSO 8 )W, 8 PSO 2017 & eons T

(1) a2dardasn 2L/ HoHharddn ) DHESGS0 (4) Soltardsn

The average weightof three persons P, Q and R is 52 kg. The average weight of P and Q is 45 kg
and the average weight of Q and R is 48 kg. Then, the weight of Q is (in kg.)

S0hdh S5%Hed P, Q J8cin R © Hitn 2 52 88" mauen. P H8cn Q © Hiew
2003 458685 |rinen. Q HBC5N R & JHfen 28 48 88" rlnen. @, Q o)

@ 23

oSl

2HJ @9 rined

() 36 (2) 44 (3) 48 T (4 30

A train travelled at an average speed of 100 knvhr, stopping for 2 minutes after every 75 km. The
distance travelled by the train is 750 km. The time that the train takes to wavel this distance is
(1) 7 hours 26 minutes (2) 7 hours 10 minutes

(3) 7 hours 12 minutes (4) 7 hours 48 minutes

2.8 Den Hifd Fo 158 ot 100 L. (DA, D8 75 8.5, &rdo Soth Both
QM) @hdéod. & Den Moo 750 L. Srdsn |DAFSNOD. & Srdo
(DASrBoSEE & Ben A:050S8) DSIcKSn .
(1) 710.26. (2) 7%0.10d.

(3) 780.12 Q. (4) 7M0.48 1)

11
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165, In a code UFBDIFS stands for TEACHER, then the code word for PARENT is

166.

167.

168.

169.

170.

2.8 ¥4 2radS’ UFBDIFS &8 TEACHER 3709, @ 270¢S’ PARENT 8 88 Hdo
(1) QBSFOU (2) RBSENU (3) QRAESU (4) QSBOFU

In a code language BHARAT is written as GZIZSY; and INDIAN as MZRWMR. Then, the code
of POLICE in that language is

o8 €8 2raS' BHARAT D GZIZSY b, 08050 INDIAN 2 MZRWMR e (3.
©Hh & S’ POLICE 3w, ¥8 AT

(1) VRXOLK (2) VXRLOK  (3) VXROLK (4) KLORXV

Note : In guestions numbered 167 to 170, you find a pair of words or numbers Orlgtiers or a
combination of these which have a relation between them and a word of anotherpain Identifying
the relation between the words in the first pair, you have to pick up, among, the four options, a
word which has the same relation as in the first pair with the word given in the $econd pair.

Brcd : 167 oA 170 IG5 o D) ed o8 Jonoso &) o a8 dSoren, TS
Homien T8 eloren TF DS )88 5rA0 ade), ®2050800% 28 S 2.8 Hdo
SrdSch) Dwcded Bsdore g HowoR) HWBod,BdE BeS' adyd HorRl @8
502050 (S DR AN IS T DT 0D 2 RO JoNE Taird.

DOCTOR : DISEASE : : SHERIFF :

(1) CRIME (2) DUAL WAR
(3) MURDER (4) \THEFT
2ok : Bo: : b

(1) o | @) 08 acwdo
(3) aredg 4) Soléddo
20:21:: N :

(1) P (2) O

(3)) M : 4) Q

RED FORT : DELHI ": ROCK GARDEN : _ _

(1) CHANDIGARH (2) CHICAGO
(3) BENGALURU (4) AGRA
ST 0D : : oE DS :

(1) t~Hodns 2 agf

(3)™ Bolitr 4) o

AXE : WOOD : : SCISSORS : ¢ -

(1) CLOTH - (2) PLASTIC
(3) IRON (4) PENCIL
QO ; Ty :: 584 :

(1) 28 | 2) Y8

(3) RS 4 DA

P11

5] 23
www.sakshi ion.com




171.

172.

Match the following :
List-1

Vicar-ul-Umra

Kamal Khan

(¢) Salar Jung-I

(d) Mahboob Ali Khan

1808 ¢8R BSHETHAD :
rder -1

NeB- S-S

a0 gra

rerd s0f -1

arard; ed gra

(a)
(b)

(a)
(b)
(c)
(d)

The correct match is : / OGRS 2eb

(a) (b)
(1) iv ii m
(2) i v i i
i
i

(d)
i

(c)

(3H v 1 iii

(4) i v

Mﬂtchlhﬁfnl]nmgnfﬁmﬂlsandthm

www.sakshieducation.com

List-11
i Purani Haveli
ii  Falaknuma Palace
iii  Diwan Devidi

iv  King Kothi
aDer -1
i ORVIIO
i POl e B (0
i AOTSTIA O
iv Sof%8 O

:L'!EIII Eﬂ.ﬂ'ﬂﬂllﬁ'ﬂhﬂﬂ

List -1
(a) Deshmukhs Qvenue Contractor
(b) Sarbastadars Revenue Collector
(¢) . Sadr-us-Sudur % Civil and Criminal Administration
(d) Quazi-e-Subah iv  Eccliastical Department
Sodlie Ao ﬂcas'ﬁ:c::é.:-, 0 WHTUT LD 23ebDG TN :
Do -1
(a) i Bo&rg solerEs
(b) i  BD&r; E8EH
(c - i DS Hbain (0SS Hored
(d) grz®d-Aoerar iv SOy Ty
The correct match is : / O 236
(@ M (@ (@
(1) i i

P11
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173. On which date the “Telangana sﬁ“&iﬁ?ﬁﬁc&%m withdrew its armed struggle 7

(1) 21* October, 1951 (2) 4™ August, 1951
(3) 20 January, 1951 (4) 15" December, 1950
Beore O HoE) B S8 Aot MoErd) D BAS DEWOHTIOS ?
(1) 21 eFa, 1951 (2) 4 e, 1951
(3) 2023338, 1951 @) 15 8o, 1950
174. When did the Nizam government lift the ban on Hyderabad State Congress ?
(1) March 1946 (2) June 1946
(3) July 1946 ' (4) February 1946
Zpéorared S oD DS ARor) daro (HIH towPich Sofodod ?
(1) &r8)1946 2) 281946
(3) =B 1%6 @) | DDHD1946
175, Quazi Abdul Ghaffar, whﬂpspmtedﬂmlndimiwmmtnhnutthamminﬂfmmd
State after police action, worked with whith of the following newspapers ?
(1) Raiyyat ) (2) Imroz
(3) Hyderabad Chronicle (' (4) Payyam
WET RES FO/HO; esosdo BOAY ISRV o HIhErsDs
BOCHANS I8 YT IS DELS) 1508 D HHES' HFDoD 7
(1) Dobé | 2 «Erd
(3) s s0ES @) ardbed
176. Mihalga Bai Chanda was a famous court dancer of which Nizam ?
(1) Nizam Afzal ud danlah ~ (2) Mir Mahboob Ali Khan
(3) Osman Ali Khan (4) Nizam Ali Khan
D Do oo Hdfosaron Soor oe S8 Hotd ?
(1) dzro &S all T @ S8 2rarS edpd
(3) amSed S (4) D20 0TS
P11 G 5 o 54
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177. Assertion (A) : A gentlemen’s agreement was signed between Telangana leaders and Andhra
leaders in February 1956 to merge Telangana and Andhra.

. Reason (R) : Accepting the merger proposals, Andhra Assembly passed a resolution on
November 25, 1954 to safeguard the interests of Telangana.
The correct answer is :

(1) Both (A) and (R) are true. (R) is not the correct explanation of (A).

(2) (A) is true, but (R) is false,

(3) (A)is false, but (R) is true.

(4) Both (A) and (R) are true. (R) is the correct explanation for (A).

DBASS (A) : 1956 S D2SOS Boors, wold rodsned Do Fobharns
oy |2roEre ordDBoen 06 2.8 R ey L5000 0808,

PE00 (R) : DI HADESO0 oS Bold TR TIS D¢ 1954 HoSIy80
SS0 258 Boorn |Pe IV O S S5 1D10NERE H0dHBO.

RO IR0

(1) (A) «00dw (R) Dodr Q. (R), (A) 50 1B S8 stk

(2)  (A) dasdn R, (R) Sy,

(3) (A) &3y 50, (R) dzsadw.
(4)  (A) B0 (R) Bodr Qzsain. (R), (A) %0 A0S e,

178, Identify the pair which is not correct :

(1) Telangana Vanchana Dinamu = - 22 April 1969
(2) Telangana Pathaka Dinamu ~ 12 July 1969
(3) Telangana Porata Dinostavamu — 7 March 1969

(4) Telangana Korikala Dinamu - 1 May 1969
1808 S IO HOTS 2 & HBohdad,

(1) SO SIS Eedednd - (222D 1969
(2) Swomr Hrs a0 - = 12 278 1969
(3) Soors Sford ASE330 2 757851969
4) SBoores Fote Hdsw - 13 1969

179. Which one of the statement is.not,correct regarding Boodhan movement in Telangana ?

(1) To distribute the gift'land’ collected under Boodhan movement Vinoba Bhave established
an association célled ‘Boodhan Yagna Samithi’ and Ummethala Keshava Rao was
appointed as its ConVener.

(2)  The second grip of Vinoba Bhave started in 1954 from Ramannagudam of Khammam District.

(3) To suppdr.Boodhan movement, the students organized a procession and also held a
meeting.at V.V. College on February 6™ 1956,

(4) Aclarya Vinoba Bhave started this movement and started his tour of Telangana from
Shivarampally village on 1951, April 15™. -

BoSuisSTred Suomers ZronS @t iards Ho020000 HO5DO IO ?

(1) ZrorsS arddgedo orjoe DES0DS Hrind ordo ThbodhE FreeS aba Ha'
8 H0PDH FTH0D A Se> TS50 D 558 dohoor.

(2) dSererd Dodd Frord e dirle Poo AL TS B0 od 1954 &
Erdodotrdh. ‘

(3) PR @Oiras DG DSBS, 6, 1956 &S Dorghen 2.8 MBACHSD 265 D.D.
rH8 sl5028 22508 HHD NSO,

(4) & &SN aords DSerard |rsoomrdh. 15 ADS 1951 & edhd So0HO

00d oo S8 |ardodoord.

P11 [s] 55.B
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181.

182.

Match the following authors with the\books by weete -

List-1 List - 11

(a) Allam Narayana i Telangana Jaitra Yatra
(b) Ghanta Chakrapani ii ~ Pranahita
(¢) N.Gopi iii Salam Hyderabad
(d) P.Lokeshwar iv  Thangeti Poolu
1800 Srdondden, 30 SO addEih.

adé -1 wdd -1I
(a) ®&YOoToCLR i A0 B i
b)Y ooty SIS i  |Sreerd
© SAD i Dero TSOErED
d 5 S0 iv  cofiel e

‘The correct match is : / QO 236

(@ (b)) () (d)
(1) i @ i iv
2 v 6 i
(3 i i iy
@ i i iv il

Match the following persons with the places of their martyrdom

List -1 List - 11

(a) Yadi Reddy i Shastri Bhavan, New,Delhi
(b) SriKanthaChari  ii  Ambedkar Stafue, iB. Nagar
(c) Yadaiah iii  OU, Campus
(d) Ishan Reddy iv. N.C.C.Cate
1800 0 D, T HBS YS! ebdhaiw.

wder -1 ardor -1
(a) oird B i R 558, Srad
®) Posord i Cwod B diro, 28.8. Siib
€) Cr&oby i £.050. S0dR
(d 2arS e v 2800, 78
The correct match is«7 ST 2368 :

(@ (), (€ ()
(n 1 1 v ii
(2) il (W) i
(3) v 1 11 i1
(4 1 i iv il

On which date Telangana Praja Samithi decided to change the scope of its organisation from non-
political to political body ? .

(1) July 1970 {2) May 1970

(3) April 1970 (4) June 1970

B0 (D2 DS S50 HoPD D 2.8 oralad doPrr 1HEBoDOS ?

(1) 81970 (2) H1970

(3) DS 1970 : (4) @~51970

Pll
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184.

(1)

()

(3)

(4)

Article 3 of the Constitution Parliament may by law form a new state,

V. Narayan Swamy was a special invitee for Group of Ministers (GoM)

On July 20® 2013 Congress Working Committee passed a resolution on creation of
separate Telangana State.

On July 30% 2013 the Congress leadership constituted a committee headed by
A. K. Antony to talk to all Congress MLAs and MPs from the State to explain to them why
C.W.C. had passed the decisive resolution on Telangana.

1808 A0S T IHSS OB HODIS e 7

(D

(2)
(3)

(4)

afid 3 |O58dn ardThotnd ¥ u*:_qmueﬁa AT ORIV [3vife ol
L Tal e NI T AV e Tn )

IS @D oAPRE) (GoM) 5 D. T O CHEOPLN (H&gE eyt s Debocsd.

15838 Boore DEIESIBID TR SEI0 Y o%Q 278 20, 2013 & ¥
80788 Fhod.

SOITR DD 20 HOCHH J.d O SO SO0 (5 ::t;,'lc: 800
2cHoS AoHH APaho A% DSBoSEIL Toih FTahES0 o8
@0&'D B8 &S 2.5 AR 2B 30, 2013 &S AGHODOA.

Match the following political urgnmsauuns with the names of the founders :

(a)
(b)
(¢)
(d)

List - I , LCist - II
Nava Telangana Party i ( Im!rn Reddy
Telangana Sadhana Samithi i Nagam Janardhan Reddy
Jai Telangana Party - i T, Devendar Goud

Telangana Nagara Samithi iv.  Ale Narendra

& 1808 oafoh HoPLVrEED ATDODS O adSStHSD,

(a)
(b)
(€)
(d)

Do -1 e -1
Do) BOOMTH o8 i =00
BOOME G Do i o asds B
2 Soors rQ iii &8 HJosETS
SO0 SHE JHa iv @8 38015

The correct match is : / DO 23€$ ;

(1)
(2)
(3)

4

(@ (®) (€ (d)

il i iv i
v i iii i
i i v i
i v i it
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185. Match the following :

186.

P11

(a)
(b)
(c)
(d)

(a)
(b)
()
(d)

(1)
(2)
(3)
(4)

Which of the following

(A)

(B)
(©)

(B)
©
(D)
(1)
(3)

List -1

Baindla
Budabukkala
Padmasalai
Koyas |
1B0d 73R 2HE .

List—1

[Bod
CA e EAVL TS
SSwd
gabhen

i v

1

ii

(c)

11i

B. 5. Narayana

ii

d)

iii

iv

www.sakshieducation.com

List - IT
Jarmidika
Dhamaruka
Sadanasurulu
Rela Dance

List - I
22008
dedtv¥o |
APGR Artoen
Ber Syehgesn

4

\
The correct match is : / OToed 2366 - @&

~ (@) (b)

O

are correct ?

the film Nimajjanam.

Shyam B-:n@ms the producer of Nishanth.
Oka Oon

tha cinema was directed by Mrunal Sen.

i cinema was directed by B. Narsinga Rao.
00S DS En ?

2R TOCHD T%Y DHBH0 DR S 80ck.

NOE RAST DoV T30 BSAS, ,
&8 W0 4 DOSF S& 50 LyedS H.S.
‘" ZITAN’ RRST S850¢h D, S8R0 o3,

(A), (B) & (C)

(B

} & (D)

(2) (A)&(B)
4) A)&(©
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187. Match the following :

www.sakshieducation.com

List-1 | List-II
(a) Ikat i A dance form
(b) Teez ii Festival of a tribe

(c) Paya iii- Technical knowledge of colour printing on cloth
(d) Perini iv A special dish/soup of Hyderabad

1E08 3R 2855 HSY.

Do -1 aDee -1

(a) =ES i &8 Sgdhg S0

b 8 i a8 RO B Hodhrs

(@) D i oD Sohed of Arolal HaYo
@ DOS v ErSoercs Dobs 2.8 (HEsE Sot¥o
The correct match is : / HOTDS 236 :
| (@ ® () (@ |

(1) m i ii iy

(2) i ii iv i

3 i iv i i

@ iv i i i

188, Match the following :

(Temples) (Places)

(8) Keshavaneni Temple /\1* Gangapuram
(b) Taraka Brahma Temple ii  Alampur
(c) Sitaramaswamy Temple iii  Dichpalle
(d) Ramalingeswara Temple iv.  Nandi Kandi
208 T¢I 2D 56C05m.

(serdfhSnen) (15 EF ¥ Saewn)
(8) TS FDaAOAHIW i Koy
(b) ~BrSE[208r; sodhadn i wsoogs

(€) QB T BOcHE i ASHD
d) oD sOdbD v Sod dod
The correct match is : / DOTDeS 2368 :

(1) 1
(2) i i IV i
(3) i
4) 1

B e - Ny e =
Fll . www.sacation.com
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189. Consider the following staternents and select the correct answer :
(A) During Satavahana rule agriculture was the main source of the income.
(B) Half of the agriculture produce was collected as land tax. -
(C) Early Satavahanas followed Vedic religion.
(D) The later Satavahanas patronized Buddhism.
1808 orgped HOVD0D JD M JAPLFSADAD EMesn :
(A) TEITDO 008 HISTCH0 BErdirds 1N egrdo.
(B) S1Sarad dreb 186’ Hifo 200 Y Sdren TRrd,
(C) SO rdardHen 268 HER) edhddoor.
D) SO réTirden T PLER) SFNOTE.
(1) (B)&(C) (2) (A), (C) & (D)
(3)  (A),(B),(C) & (D) (4) (A)&(B)

190, Assertiom (A) : Satavahana society was patriarchal in nature.
Reason (R) : Some of the later Satavahana rulers used their mother name as prefix.
The correct answer is :
(1) Both (A) and (R) are true, but (R) is not the correct explandtion of (A).
(2)  (A) is true (R) is false.
(3) (A)is false (R) 1s true. .
(4) Both (A) and (R) are true and (R) is the correct explapdtion of (A).
PSS (A) : TSI Dadr2o Dby Al O 1arsa EHASS.

ededn (R) : Todhod DTETrd Trzren S D% Lot &0
gadirford.

ROFTDA NGO ¢
(1) (A) 000 (R) Dodr N30, {R]. (A) 50 RB~ el S .
(2) (A) D0, (R) sy |

(3)  (A) &3y, (R) dao.
(4) (A)Hdaiwn (R) Bothr hau. s08ai (R), (A) 8o HBAS DS,

191. Maich the following” -
(a) Nanaghat Inscription i Pulomayi 11

(b)  Nasik Inscription i  Kharavela

(¢) Hathipumpha Inscription iii  Naganika

(d) Myakadoni Inscription iv  Goutami Balasri
SOSPED BSHEHEM :

(a) \ "l TR0 i ardse syreSeiran
)" RE S0 i ol

(€) FADOF TR0 i AT

d) S0 THSo iv T aro?

(a) (b) (c) (d)
(1) v i ¥
(2) i i i iv
(3) i i i v
(4) 1w iv 1] 1

PIL.. ' I? B
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192. Consider the following statements with fegird (5 ReRitiyas and select the correct answer :

(A)  Agriculture was the main profession during Kakatiya rule.

(B) Forests cleared and new areas were brought under cultivation,

(C) Land Revenue was collected both in cash and kind.
(D) ILrrigation was not given importance.

FESCOKH HOVOSOD (S0 TLET O HOIOOD BB SSTTEIDD EOMHS5 -
(A)  SEAANO O0S" JSIADO DG S99,

(B) &) S08 Ared [Fromres AHS'IE ST K.

(C) Zrad FRNBO &S, ords Srhm Jaren Tabdo 28804,

(D) R FHEOL [DS0gses 2.

(1) (A)&(B)

(2) (A).(B) & (C)

(3) (A (B), (C) & (D) (4) (A)only
193. Identify the correct pair :
(1)  Thousand Pillar Temple Ganapatideva
(2) Padmakshi Temple Rudreshwara
(3) Chitrasala Machaladevi
(4) Ramappa Temple Rudramba
QD 23ebedd 8050l
(1) Jow dozre HA fade S
(2) Sl Barocho o34 55580
(3 JQsro NUINTEY,, b
@ odd)Bradho Siyos
194. Match the following :
List - I List-1I
(a) Motupalli Inscription i Ketana
(b) Chandupatla Inseription ii  Rudradeva
(c) Nitisara iii  Ganapatideva
(d) Andhrabhasha bhushanam iv  Puvvula Mummadi
(£0d SR SEHEAD
earder -1 L ||
(2) . SeDHd NS0 i BebeS -
(bY =500 TS0 i Schd Ty
(¢) Narso i feade ek
(d) @0l arar Sirano v 3Jedse Swedd
(@) (B @© () |
(1) fi iv i i
(2 iv i i i
(3) m i i iv
(4) i i i1 v
P11 s sl caton com
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195. Consider the following staterents with regard to Qutubshahis and select the correct answer :
(A) According to Tavernier there were twenty thousand prostitutes in Hyderabad city.
(B) Land Revenue collection was auctioned.
(C) The Puranapul was a model for a bridge in London.
(D) Abul Hasan Tanasha granted three villages to Rama temple at Bhadrachalam.
S0l rirof Ho20000 B0 TErTOS H62D0D DBS  DATLTSI0
NV ARV
(A) &T0)chE B5do TETerdd Sidod athsan Jedod Jigen doBd.
(B) Zrd 3 Sdransd Joo Fhad
(C) oS S 8 SoBSE mmﬁ 2,8 ST,
(D) o8 FHS wTar HordoodS's ordnd Foodirdd Sard l,_mﬁ:u S0

od.
(1) B)&(@©) (2) (A), (B) & (C)
(3) (A)@B) & (D) (4) (A)&(B)

196. Match the following :
List -1 List - IT
(a) Kollur mines i Movva
(b) Hyderabad city i  Kohinoor
(c) Kancharla Gopanna - Mir Momin Astrabadi
(d) Kshetrayya iv.  Dasarathi Satakam
208 8D 285580 ;
arDer-1 rder -1

(a) Sard ddboen i e §
(b) Soerd Shdo i\ $orard
(€) Housd NSy AilY Do oS TS AL
) Hsabs v 400 880
The correct match is / OGS 23eb |

(8 @ )= (@
(1) i i i1 v

(2) i il i v
(3) i il v 1
_ (4) Hedii v P

197. Arrangethem in chronological order :

(A) Ibrahim Qutubsha (B) Abdulla Qutubsha
(C) Mohammad Qutubsha (D) Jamsheed

E0B TBD SerSHES0S D )80 : -
(A) waro &S (B) ®per Soshdar
€) oS Sy D) 20n&

(1) (A, (C), (B), (D) (2) (D), (A).(C),(B)

(3) (D) (A)(B), (C) 4) (A (D), (), ®B)

P11
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198. Identify the following statements which is not correct ?

(1)

(2)

(3)
(4)

Basheer-ud-Daula was the minister for law during Mahaboob Ali Pasha reign.

Salar Jung Museum was opened to the public on 16 December 1951 by Pandit Jawahar Lal
Nehru.

Raja Bahadur Venkat Rama Reddy was the Police Commissioner of Hyderabad.
Al Nawaz Jung was the Chief Engineer during the reign of Nizam Ali Khan,

808 635" HO5D (HB5SS50D HBOtHEY :

(1)
(2)

(3)
(4)

DTS eOIET Fod Food hE-as-Ter Tiah T Hod.

D 20l dursRchosd 16 Ao 1951 & J0AE 3375erd Tow |D2sed

o800 Iardododb. |
Cra0rel FoSLTATDE 2rdoered 5 SAIET 5T D%,
©d Saref 20l Ao ud IS o oo’ D0 B0,

199, Match the following :
List -1 - - List - 11

(2)  Aghornath Chattopadhyay i Gloria High School

(b)  Afsar Jung Bahadur ii . Madrasa-i-Ailiyas

(c) Salar JungI ui  Asafia High Schoal

(d) Syed Hussain Bilgrami v Madrasa-i-Aizza

1508 S8R 28D Gthen ; )

ader -1 afime & 11

(1) ®ISTH SE s i facinararen

b)) @330 200 2irdrS il AOW-a- eddirh

(€) 2888 2rerd 20 iii =~ BN By

d)  RDchs NS Dierty iv \o-2-0er

The correct match is : / HOTDS 23b

@ (b & (@

(1) i v ii iii

(2} i il iv 1

(3 i il iy

@ i i i v
200. Which one of thefollowing statements is NOT correct 7 -

(1)  MuzafarJung gave the title ‘Nawab Zafar Jung” to the French Governor Dupleix.

(2) Muzafar Jung was killed by Arcot Nawab Anwar-ud-din,

(3) _ The'Northern Circars were handed over to the French in 1753 by Salabath Jung.

(4)  After the death of Nizam-ul-Mulk Asaf Jah his son Nasir Jung became the ruler.

1508 |DSBSSNOS’ DA HOTIA ¢ ?

(1) <0200 20k oD N8 S RS “Sard 2H8 206" ©8) DD HO S

W,

(2) D0 20BN BT Sara, e HHOS SO,

(3) 1753 Hodeéb S0 derad zok aes ROEDOD PODTEE 5B )%,

4) Qo &ad S 8P & HBETVOSE0 BADHS Sosrots Tl 2ok Loa~ TV VTN
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